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( PREFACE )

The Textbook Society, Karnataka has been engaged in producing new textbooks
according tothenew syllabi prepared, whichinturn are designed based on NCF—2005
since June 2010. Textbooksare prepared in 11 languages; seven of them serve asthe
mediaof instruction. From standard 1 to 4 thereisthe EV Sand 5th to 10th thereare
three core subjects namely mathematics, scienceand socia science.

NCF — 2005 has a number of special features and they are:
® Connecting knowledgetolifeactivities
Learning to shift from rote methods
Enriching the curriculum beyond textbooks
L earning experiencesfor the construction of knowledge
M aking examinationsflexibleand integrating them with classroom experiences
Caring concernswithinthe democratic policy of the country
M ake education relevant to the present and future needs.
Softening thesubject boundaries, integrated knowledge and thejoy of learning.

Thechildisthe constructor of knowledge

The new books are produced based on three fundamental
approaches namely :

1. Constructive approach,
2.Spiral Approach and Integrated approach

Thelearnerisencouragedtothink, engagein activities, master skillsand competencies
The material s presented in these books are integrated with values. The new booksare
not examination oriented in their nature. On the other hand they help thelearner inthe
total development of his/her personality, thushel p him/her becomeahealthy member of a
healthy society and aproductivecitizen of thisgreat country, India.

InSocia scienceespecialy in standard 5, thefirst chapter dealswiththehistorical,
geographica, cultura andloca study of thedivisoninwhichlearnerslive. A lot of additiond
information is given through box items. L earners are encouraged to work towards
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congtruction of knowledge through assignmentsand projects. Learning load of
memorizing dates hasbeen reduced to theminimum. Lifeva ueshavebeenintegrated
with content of each chapter.

Welivein anageof scienceand technology. During the past five decades man
has achieved great thingsand realized hisdreamsand reached pinnacle of glory. He
has produced everything to make life comfortable. Inthe sameway he hasgiven
himsalf to pleasuresand reached the stagein which he seemsto haveforgottenbasic
sciences. We hopethat at |east agood number of young learnerstaketo sciencein
higher studiesand becomeleading scientistsand contributetheir sharetotheexisting
stock of knowledgein order to makelife prosperous. Ample opportunity. hasbeen
giventolearnerstothink, read, discussand learn ontheir ownwith very little help
fromteachers. Learning isexpected tobe activity centered with thelearnersdoing
experiments, ass gnmentsand projects.

Mathematicsisessential inthestudy of varioussubjectsandinreal life. NCF
2005 proposesmovingaway from completeca culations; congruction of aframework
of concepts, relate mathematicsto real lifeexperiencesand cooperativelearning.
Many students have amathsphobiaand in order to hel p them overcomethisphobia,
jokes, puzzles,riddles, stories and games have been included in textbooks. Each
concept isintroduced through anactivity or aninteresting story at the primary level.
Thecontributionsof great |ndian mathemati ciansare mentioned at appropriate places.

The Textbook Society expressesgrateful thanksto the chairpersons, writers,
scrutinisers, artists, staff of DIETsand CTEsand themembersof the Editorial Board
and printersin hel ping the Textbook Society in producing these textbooks.

G . SMudambadithaya Nagendrakumar
Coordinator, Curriculum Revision Managing Director
and Textbook Preparation Karnataka Textbook Society
Karnataka Textbook Society Bengaluru, Karnataka

Bengaluru, Karnataka
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(FOREWORD)

The Government of Indiathrough NCERT have brought out NCF 2005 to
revisethe curriculum of schoolsand suggested all the statesto introduce revised
textbooks in the schools based on the new curriculum. Accordingly State
Governments took up the work and requested respective DSERTS to start
introducing new curriculum and texts. Karnataka Government has suggested to
its DSERT to take up the challengeto fulfil the vision of NCF-2005. DSERT;
Karnataka started the process: constituted committees to revise the syllabi,
identified thewritersand requested these peopleto write textbooks based on the
new syllabi incorporating the expectations of NCF-2005. K arnataka Text Book
Society took theinitiative and coordinated the whol e programme of writing these
textbooks.

Thecurrent work, atextbook in mathematicsfor 8" standard, isastep takenin
thisdirection. An effort hasbeen made heretolook at the mathematics needed at 8"
gandard through adifferent lens. At first glance, thismay look atotally unconventiona
approach. Some may fed thatit ishard on the part of 8" standard students. Onthe
other hand that isthe correct agefor the studentsto |earn new conceptsand idess.
Studentsarereceptiveto new intellectua challenges. It isthe onusof theteachersto
teach new thingstothe students and prepare them to the challenges of the ever
changing world. Thistextbook iSalso an effort to integrate our studentswith the
national mainstream where CBSE has surged forward and parentsthink that their
wardswill be better off by learning CBSE texts.

We havetried hereto tell'something new about numbersand number system.
Similarly, something new about graphs, postul ates of geometry and congruency
of triangles are also.introduced with more expectations. Quadrilaterals have
been introduced now itself. There are optional problemsat the end to challenge
the students. It ismy earnest request to all my teacher friendsto take up the new
challenge. L et the parents of our students not feel that their wardsareawaysin
the back seats.

B.J. Venkatachala
Homi BhabhaCentrefor
Science Education, TIFR, Mumbai
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[ vijubuE  Phjvi j

MAZjAZ ©VvEA vgUwAIL ¥oM _PUY: 8U Yed UEAQ _A23daP COMABRUYEN
Uaio1 ajig aliR@iAwasiegE Cxd_a2gk DVgie 2kelzgialaiizagh vai
2014-15 g 8emi£® vdg , «iwAilEll ga_i® WEApU 2iArzgh vdgi
CE_j . "IPiz 2UE® DAIIREN »AU Olhzgl: "Yoh_PUVEN _ARikFP _idig, |
EWPRIERIUYA, 2Qv«P £, SeloP alvi &AZAJP 2A£EL A2, eAviwivv, 2ivi
gATTAAIA 8zvU%U CEIAURRAV vdg _ «iWAIREN ¥iEgi ga, AUzl - EzZi
gemi "Autz® _Azg¥riz DAl

DEAvg 2Pt E ASAill MAZJjAz ©vEA vgUWAIRRQVE, ¥oi¥h_PUY
¥JUQUUAV 27 | «hwWUVER gat CEAAP; 24.11.2014 gAzh DzA+CAgrivi. F
_«<hwUd «pAii@Agh 2ivi vgUw2Agh 2IAEZAQPEAUIERAV gav@Azd, ««z
Yo«pANUA _A8ACIZ vdgh, CzA¥Pgl F _«iwli®zAg. FUAU A °TvaAV
§ACgia CEAP DPRUVA il «HipuUYED ¥j2Act vl M¥IUY: 88U otd»t
Yol PUVEN ¥juj. i3 OEUCEY F _«iwlisU "Clvikz® ¥o2 2l ¥jujt
£AVg Yo _PUVEL ¥juj i@ _AvAvEREN 24.11.2014g DzAxz A ahq™ AVVA
DEAvg 19.09.2015-gAzA £, Dzht ©kgrl ClUvikz°® ¥iEgi ga i@
_AvAvEREl oAq A-ivi. »AU 2iUa¥juguUEAg Yok PUYEN 2016-17 g
§z®L 2017-18£A +PtP 2udz° eAjUEY%, AURRzAzA EzA Dzi+z®
w¥a, A=V,

CEAP 2QUUWE JAWNEUYE | AilA¥EBRVOAV Y0¥k PUY 2ik»wz/EA,
DAz EAUUYEN ¥n2iAr 2Pt _a2jU, Yo P _AWP PYi»1zgh C2UY
¥J2ARERiArz®z, | «UYAZU CEAP  A2AZUYEN K¥Or1 «ZAg «o2jAik
AArPEArzA2, ¥hsadP 2ivi ¥Eeprh A CzAMPg _AWUY: efv Zadlz@z
Yad@y 1z¥r1 CzAMPJU Phl CO¥AMIUYEN _AUse,  AVz. CzA¥Pg,
<A ] «<APPgh Vi gAilmi ¥isei¥i®g YedP | TUYEL £ «HApuAvP
CORIVUYEN ¥oAil AVzZ. «eff,  Rikd«elf, Utv, A _A»vilU _ASAC1Z
vdjU 2£z A ¥oMh PU%ER PYi»1 DEAvg . £g% Zad, AVz. 2i»YA
JAWIE ©AUE «eAf _ASAC _A_U%EN DPAal aAvE £q, AVz. »AU
J A 2iERUKAZ ¥qz Cj«Ef DzAgz 2 ¥oi¥h_PU%ENL CUvikzPq
¥juj. Avz.
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gojaiiRaAz E£AIAZA _AUWAIAEN E° ©Av "APA. PAACEAIA +A A
(N.CE.RT) ¥o¥i_PUY% efv ghdiz ¥o¥ PUVEN vERaP2AV CZAILE 2iAr
_®OUYEL oAq®h «eAf, Utv @ivi _2ild«eAfP ASA¢1zAv vdg 2iEgh
C<hWUYEN ga, A-lvi. F_«dwU%d ohrz vE®oP «#Apu 2ivi | @°PUYEN
Dzj1 gAd: ¥o¥i PUY UME2iI2EL @a, Avz. PAACERIL +A~A YoM PU%VAV
£2 ghdiz ¥oi_PUY ULt2il PrajAiiAUzAv PAAIMPEY: AVz. efvU DAzge
velVAEAGH, 2ICAgAL ghdiUY: YoM PUY: efv £24 Yo PUYER ¥j2he vz,

E£EAZA pEAIREN oAq®L SAIA AVAE. £2h _«lwU%d 2idrgidizi
¥jUguAild ©Egvi Yo _PUY: _2iUagZEAil®. DzjAz FUAU A gavaivgia
YoM _PUY g/AE¥P J°AIME ZPAIMAIRRAr®. AUv | RiAEv, ¥Aad2P ¥iemzZ,
gATAAIA _2iUse _2iAEv, _A2iAFR _A2Ig_ iUY% »£l Aik® P& ¥juguUvi
£q¢2 »AU ¥juj A2AU gATAAIR ¥oPad ZEPIA 2ivi gAdi ¥oPrad ZEPNAUYVEN
«Mj@®2AZA wvo, 8AIA Avid: efvU £2h A«zAfz D+AUVEN CEA_j, Avz.
C«<lwUvd 2idrz ¥juguAilel 2iveal ¥j2ie @L «pAiligh GEv ¥J2ARF
L <wUY%EN gal CO¥AaR¥qzi CYar, Avz.

»AU PgZz2AV, £z P®_P VAIEN vidl A¥EELS VEQVIPEAQ 27
L«<hwUY: CzPPgh @il |z igEll CAUE GEiv ¥J2A®EA | «lwAik 2i_ gl
Pvdv—iAZ £EAIMMVAZ CAVAIML _<«iwls PR, _IUAIRAV £QAiliRAY 22 Ajigei
PAAIAOPEE CCPAjUYAV mp—iAz zirz ¥o¥A P AWz J A CEPAJUYEA
££AIMVA2, ©OPjlz 18ACUE £2h 2Az£UYA. CO¥iad oir ©Pjiz .29
AWEEUY @i vdju zE2AZUYAL,

£91APAIk ¥/Eae8gUAgL ghaizAzEe

aa \¥p ozdh+Pgi . 2h8zPgh
PEASIP ¥oi¥i_ P AW (j) Y0¥l P ¥jugt «iw
" AUYEQgA-85 PEASIP ¥oi¥i P _AW (j)

" AUYEQgA-85

M
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[eagwrfﬁ@ﬂ
HeHh el HeHT S HEA
"R v : U wigra uf=w X[~ xiy
or | &I B T 1-26
qh 2 EIEIRESEES 27-43
HEH 3 Sfyereon, AfwIfRa 3R Ty 44-175
UTH 4 TGS 76-83
HH S i, A, ¥ T 84-108
Hh 6 el W 109-129
"EH T Riteplesico) 130-159
uah 8 T IUHIHd Rgeh THRT 160-174
JAE T2 175-198
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ARG MU — Uk Gl uied

W TTG dfesh el § URW 83| dfesh ol o &Il b 98d Hewqol a1d
2 Jod T ST A9 PUS i IS i forar vl wmifese 81 3 WA gEdeh
§ 2,43 afe sie &1 afes fier 81 avee # i T 6 e, w9
3R AW AT AT WA | AT o6 HROT gI) | FURE R I

11 1 .
J2 A AR A L+ 3t 3 - a3 oy 3 g heud fe

T g S5 euHeld M deh Gdl 2l

e TN % T & GUAH G TR I It gy g foram o) v 3 wmen
g g1y T gan & @ IR o wEd R, T Wod G A 38T B
firerar 21

390 U Afaq i A IR B 6 ST 8 9 = we @ e amed
TT I 6 &AW o HOM 2| Yo Al § 09 a1 @ faue e R
9 |EET S 2000 9 qh I3,/ FA T A2l o1 I8 Geg g3 hi gHew! FoReH
T N 3w § | et 18+fi WAl # W U Fvierersh g ¢ 69a g3 2|

TEYYT ‘70’ T A Yo ¢ ol T AR T b1 ITed 2| TRINE -1 (3Egd
476) ‘m’ 1 TN ged 3.1416 Feifa foam; o sa 8 76 20000 3618 &
ST o I % IR RS 62832 3T  G9H @| I8 S 9gd U=k @ b SRIME
- L aradt yaredt § & sarn on £’ e @@ 7 3R Wk IHH e
H.3TI HLFH Al 1761 § @i 3 fag fopm f6 n” v smafmy den g 3
1882 ® fovgm 3 fag fpenr f6 ‘o e o ws AqwaEmda €@

(transcendental number)

T 3N A H UNET ¢ B, IHEE TS SISHR HH h et

IXI
L= |
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IATEE W T fave WRA I T AT 8| GHAT T T ITFN AT TS
g for B¢ s== off 30 THg B IR THAE T W ITER R Hehd &l cxHed
wuITef! <l Tl Afe Y TEYd § THIET 918d @ df Ul AI9ehl Sefeld UEA
Ut T LA BT BN GG sfrEgmeR wAfen we % gEr At
Tt et § | gigran s wfd § Y’ w1 AMEH IR 8| SIHIYR 6 IUF
HE H IRAE! B 9L § T T I W A g 2 | (TEW 2, W 4,
T SR Mk THHRI i)

Wi T % sfergra § ST 99 Sl 1 T Hgeqel AnTeH @2 | $h ATeH
yftrg S Wi § forg ™ §| [9El AW dE wehd 8 B e (/10
% seR e mm S R 13 cvmed @l a% q98l Wil

‘Ser VTG’ AT 3 TV b fIUM % &9 WU 9Rd 9 A A
fean 21 sfimiva % faarrhl steem i #gd 81 IR ardiE it 3 e,
TN, Sehetd 3R T =R fskanatt sttt feam om 3 fr=t 61 3w s
S & TUT T, TR § HL TR, &1 I o, S, O IR TS J1q BT
A I IR HHET IR I H FHE AT

FHAICHh & TEH SH AT HEER (3.9, 9 off watedt) vewa: fowma g

n!
(n—r)!r!

IlCr:

I g iU | wUE H gEartaa fRan| mivg - 1 fave & st wEm
TTfoTes. 3R @TSTER & 81 3 81 i sl sIaieyd &9 9 foshe foman, s
ﬁaﬁwﬁm%wmaﬁr&m% ﬁﬁﬁaﬁmﬁqﬁa (trigonometric) AT
BIES (sine)ﬁmﬁaﬂaﬁﬁa{mﬁl Wﬁg@mﬁﬁ%lﬁ0ﬁ90
3791 o IV I 3% I o AUl H A3 U F1d FohaT| 9 vgel Afea o g

|
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gedt M =it TR 3T a6 qa ot gt T wH W R = w
@ & uftem fewm # R B0 foes @ 2

ARVE-1 % 9I¢ IER-1 (BI) waTedl) A | 32 &9 T 6 3HH A b
o TEmfirdi Iw Sqri| 3R A5 6 (sind) % AW oI Fa’ | 38 0
& a2 HIv » 13 ff W IHIE FA| FeWID (628 3.9) 7 I TqT B
&A% T U 1 FF /(s — a)(s - b)(s - J(s - d), &G I, J&I a,b,e,d
TS g 3R g 3EeRt red-ufm | uieE ST § e e w s
YA HEAA 9 g s o

TEA TS 3 axtby=c AR 47 = Ny? =1 S8 GHishll &l & & Bl I0GH
fem (& a,b,c,N < QU1 8 3R N o & aqrcqs qoriss 7)|

@ gteRToT Rl Wﬂ'ﬁzﬁ FIEAR] i} gﬁw (Diophantine) TRl hEd &l
IoR I TTerdt & 7= Ny* =1 37 Tl ol Uoq (Pells) THRT a1 3R &
T S R

ameihed x°—Ny* =1 S8 THRO 1 Ser-Uel THO Had 3| V-
1 3 ax+by+c I8 wifigwn ==t H Jefe sEm 7 0 -Ny* =1 33
THYRTOT ST AT qqUveTg ekl - 2 (YRRt o 91 8 Jfig) quiiet W
¥’ =Ny’ =1 wfiul & & ‘Thadd AWh foum w1 fow@ fem
¥ =Ny’ =1 gfiRul g & THATA M 99 ( Chakravala method)
o1 Toepm@ fHa11 22 — 2 = 1| THIERT & SR | Tsh J=reh o1d shal ot &1 1657
T wE (@ Yt 6 AneH | Yirg) FUdREE s & am x? — 617 =
1 & ot W T=dd Wl 1732 § Yor 3 389 iRl &l g foham| weg &
T uTEht-2 (1150 £.9) 7 389 TR0 1 g 3794 TshaTel fae A 70 T&ih
Sorfia # 5 watedt 49 & forar em wRe-2 3 S g ¢ Fehren 98 @
x=226153980 3R y=1766319049 W2 I hARE (calculus) T ot

Il Xi1 Il
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ufem feam, St fob uhegea= & <t el Bl 9 d(sin x) = cos x dv— T TAGA
Td B B

Eeht-2 3R HEER o M § 980 gal, HIATsh hodI3ll ol U¢ Hehd ol
TANTET, W 2 W1 0 ShAtesh o foeige fet § g3 3t 9 adam wenrsg
TS 1 3T 3R §U) @i o gnensit i foa €1 S qera: wew w9 ° ffew
B IR IR fEET ¥ R

1. (T & eiemedt 9)

T GreX Aigell 4 G IS1 UM} W §arst S 3 8 [T Rt 38H AR
HT d-TUTE Sghyy 7. H TN CH, UNTH 1 Ueh {88 e, @ °
O ek 52 TR S AT H 3TH § SIgHT 10 | WFT ¢ W 2 U
BT 2l

2. (BN <k Wi HR Gug )

o ST S TR W U §g3T e 81 Uee S 3 et Afe | s
T @ TR GHI % U % A1 I M W IE BN G MR e
T T o, WU o & sweK g e = 3 et afg sgan #
@ @ # SR 3R B T W 9 R ol % Sig T Ui TET B
al §arE sga H fohaar T8 om? Ye SR % urE fohaA ST e

aTra, # R T Y IuefeEt Sgd weat @ fomid: 37 v, St
Tagra, et Sreporfufa 3R @emeree, sisia THiehtor ol TR gl & ST
T BrepioTHfa 3T ATSWITG 31fG &F1 #) GWT §, HTEh-2 o S1g ST8tl SATHuTl
T, qR g gedreRen ¥ gl |

Hictevs 3 H1ea % B & Thell 4 TIM (tan) e o IHH oI AT HA

II xiii II
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A $® Tgcaqul JeH feIm| haet 19 dft- vraredt & 31 H THSH 3 WA T
1 A9 A JA H R AR | TS THHSH §gd 7eE ToEe 9 32 99 %
39 SaFehTel H 38+ S Yorel!, 3= UK A0 sraEr aoft, S s
3R f TR 3R Hih-flg wed b &F § A AMeH T 7|

At ot fasa & TivTae I T hl T8US bl THFH 1 YT o & & 3TN 37
AT g S H R @ 2| T8 T S8 weeqy @ T 19 off
% 3id o I % HgAEL GHA 4 @ AE § I Ae fedn B

(AT MM % foIT W T S @ e 5 (e AW 3K S
T STerag U9 g faRad dafed))

KA

2
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gecah — 1
T H WA

TH UCH & LTI &k 9@ I

o fo W wrwifas TE = SuF W ®9 (SYHIER) § FH faear € 5w
|

o TEATHAI § I F8 TA 3R TScfa] ! TAAT HAT dI@n

o TG TU 1 YUTleRT ¥, UF I AL Woohdl, T (T, R ATTRS, 797 AW AT
AT HIER |

e 4,3,9,5, 11 % WA AL 1T HAT 8 |

o 3 x 3 STGE &Il ol T=T ST G

o TEATHT ¥ I3 TS el oA gU GHETS Bl &t Al

TEATAAT

A= % difge fosm o d@mshi &1 981 weyul AeH W 'l 98 S<dl &
Hrieherrdl & el 1 deM B His W sl gfg Tl s we wgiiEl w
I T Hohal B 38 o= Sifgh Td Goid H ITT Hd &1 g0 T@A3A % Fet
TUTHH GE R S S%El i Tgell gos H S Wd @ AR geal 1 e
e 2| 35 faulia, T o fag 7 R ™ qal B A w=E T ged 8
3R e 1.8 goE P TS i A g wHge § Heg frontt

HT 76731 315 forgen 52 wamiiers SEa sed 81 3eew & foy 319 weh
76 3Rl TIM T 6 8 3R &% & TWH W 7 8| | U T™E 315 <@H et
5 THhE TIH W R, 1 8% TIH W 3 3 Ths & TH W 2| Th < T&I 5
TIh- 375 ST TAM Yoo THS Hehd | § TNHeIIST o SR | AT 3T I ofd
2 arfer g0 37 W B $o wRicEl I WA g

1]
L~ |
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2, 24, 46, 88 JA¥AT 122 <@ & 39 T Hel o A oft o0 T 3 3N
gt 2 ¥ ar B| w1 fopHt EE o+ TEd & 39 wE G fh 98 wen 3§
I 27

F7 fopHt T W @R o1 Tl T 98 4,5,9 YAl 11 § 9T 87

T AT UH WA =9 S WS aifes 39 e Wi e 3,4,5,9,11 61
AT 1 GO0 B Heoh ?
el & A w9

45 | fo=ur $ifS) 38 70 W T foed ®

45 = 40 + 5 = (4 £10) + (5 x 1)

T WG : 34 = 30 + 4 =(3 x 10)+ (4 x 1)

ar fB 354 =1 o ford 7

2 G : 354 = 300 + .50 + 4 = (3 x100) +/(5 x10) + (4 x 1)
HRI%A 1 : FAfafEa genst « IwWed §9° 8 fakae : 75, 88, 121, 361,
1024, 2011, 4444, 2345

T T A od fb fordt ft waniferss. T 6l B0 39U ®9 H oHed Rt
Tohd 87 Wl g1 GEl fohad ot 37k BN oW ST 1 J=a 123456789 | 9
3 ¢ a1 39 34 39 T g &hd &l |

123456789 = 100000000 + 20000000 + 3000000 + 400000 + 50000 +

6000 + 700 + 80 + 9
=\ (1 x 100000000) + (2 x 10000000) + (3 x 1000000) +
(4 x 100000) + (5 x10000) + (6 x 1000) + (7 x 100)
+ (8 x 10) + (9 x 1)
M 3 gl w9 A o di@n)
123456789 = (1 x 10°) + (2 x 107) + (3 x 10%) + (4 x 10°) + (5
x 10%) + (6 x10°) + (7 x10%) + (8 x10") + (9 x 10°)

3 IS &A1 1 CIEIYR Euu $Ed &1 JAYUST HEAT H WM

(AMeF) €9 FEd 2

2]
L= |
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TS % 39 CIMYR Ugfd o foRgy Sl JuTeft =hl W™ Tioast 3 SAfershr T
Th I AT ;136
3 W w9 A 39 ag fored @
136 = (1 x100) + (3 x 10) + (6 x 1)
I TEd 6, 1 AT, 3, 10 ¥ o1 &, 3 1, 100 ¥ a1 3l
THIAY T8 el AT 2 6 6 318 M W, 3 <18 3N 1 G $ IH Wl
a #fifoe abed wh FE @ EH d,c,b,a SHY: 3T, GETS, HhS W &R
& T W B d 3HHT gH ®9 @
abed = (a x 1000) + (b x 100) + (¢ x 10).4 (d x 1)
T SATHAAT I BH & AT fohrabed Bl a,b,c,d HT UHHSA B 30 o &9
T o Hd 81 39 0@ abed = (a % 1000) + (b x 100)+ (e x 10) + (d x 1)

WRAT T 61 §HA WRA S9@S H 3.9, 1200 % 3= H & g3 3R
18 o WIATE] o 37 a% @I IR Iqeh TEd Y I TRY g1
TR T2t 3Tegae 31a1Y (400 34§ 100 3.9) H 3RIWE, FE
3TN WRaRt<2 3 fagHt 3 T e feam| gemmeR yoredt 3fi fgam
g TEel UEe M TGS ¥ ST 1 IE FohAT| Wi Tivrasi
J HEN % ¥ H I HI afeheudn, UM TEATY, 37 T 37
s Tforg % SR H g9 § gge AvreH T g i aferenne
1 A TRET, =W, Y A o o 3R S seR foE gam |
INOTHEIEY T o ek A & shi T B3|

vft TIfOTA It ST TR0 3.9, 500 T Wifgeh & a1 o7 3R 35k
a1g Wiflges ayn foifad gHT €01 O J9R0T 89 o YA 3UEE § I
TEY YU &Sl WIS ThTeIel] gRiteiiagd U T Sar 2|
I 1881 H USMER (MY UIfhed™) o ShuTelt T H @IS g3l

YR fEuw g @ giaasee faum 31 gw wenst o o
(SFe) i iy F=-fr= SR ST o Eehd 21 Iergw fgue
(feum wehd) aUT SMUR HieTg faum woedl 8 SuamT id &1 e o,
efrep Sfieq ® cymur guefl (STam " fwuen) 3t Syanfl B 3R
AR FTEH <hl BHIM J1e TG ST |

3]
L= |
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JAE 1.1
1. fFfafea denstt = am= ®9 4 fafau)
39, 52, 106, 359, 628, 3458, 9502, 7000.
2. Tt 1 arafes w0 @ fafay)
(i) (5 x10) + (6 x 1)
(i) (7 x100) + (5 x10) + (8 x 1)
(iii) (6 x 1000) + (5 x 10) + (8 x 1)
(iv) (7 x1000) + (6 x 1)
(v) (1 x1000) + (1 x10)
Jhl ¥ I TP WA I uRierEt
TEf TEmsh % $© uEH e U g 3 ST AU WA IR w0 farsi

1 Tfehd L Hhd &l
@A A1
3T 394 i % WY Uk AT 9t Eehd Bl SH 3T 3 SO0 H S Hehd 3l
T 1 ;I w2 3R HT HEw W A @A % fele sfEn)
WO 2 : AT W BT 6 3R b T W Uk s BT S hiET
TOT 3 : CHT GEATA l WISHT AMHA, Hl 11 T W o Higd |
T 4 : W 0’ ST 3Y dfehd <hifeTy|
3CTE o foIg 3ueh i 9 w9 ¥ 417 AT 3R 6 WM * SeerRt U
AT T 147 BTt &1 3ThT AMTHE 55 Bl 557 BT 11 & WAT ¢ W AW TgdT
20|
T, 3ATh! I8 HH B BT & T4 bl formmer & £
%Fﬁﬁﬁ@fﬁﬁﬁﬁ;%mﬁﬁwm(reversal) YAl

el | a1 | T oft 31T IR T 11 F W @ WA YA gedEsh hE
Tehd &

H
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IS : A SR @ 3l Y T ab MU THEA &
£=(ax10)+(bxl)
zaeht foula T 8
ba=(bx10)+(axl)
39 TE &I qYT 39k Touiid §&a1 1 SE 8|
ab+ba = (ax10)+(bx1)+(bx10)+(ax1)=11(a+b)
anft SRt Wem B fR 11 W W I W I H @A B ?
HEHAT 2 : AT AT WA HT Th WA ST Tohd BN| gF ekl sh & 31N
foofia T &1 Sis o4 & Sl AT AINE| I ISR Al S 21, 34,

86, 79, 95. I T WISl 34 A b [OT¢ AT B2 21-12, 43-34, 86-68,
97-79, 95-59 I H WA AT & Hehd BI?

@A A2

39 THA, 3T - 1 37371 6 T T H @ HigU| Ihi & M ded
T ITh! fowlia (F@ o Higul 379 g T 3R 3ueh fowlia T w1 3w
M0 HE HET| ZH 3T Bl 99 T WA < HigW| 3T IH <fehd o Tohd & I«
M HE o6 I ‘0 war B; T IUR I A wEn Ao &l B IerEw
T ST 31maek fim 3 891, 1 35k faudia w&m 198 2 3R 31 A 891-
198 = 693 = 99 x 7. 3id: 99 ¥ W &M W AY YA T&dT 2|

HEHAT 3 : 9 3ThI ! 3 T&IE i) 7+ e 263, 394, 512, 765,
681, 898, 926 3Hehl o TAT TR I TEAT 3 Yo AT T 3T T HIETY
3H 3T H1199 T YN M higy|
HHTd: T8 Y BIdl a7

A\ abe TH T g &, A1 fawli| T cba W @

abc —cba = (ax100)+(bx10)+(cx1)—(cx100)—(bx10)—(ax1)

=(99><a)—(99><c)
=99(a—c)
3d: =R BHIM 99 T WY 2

I
L= |
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@ 7 3.
Teh o 37ehi <h! BT i, A T 132, 319 37 & Tl i § (Thi
®Y ) ¢ R @A fyerdt B, 9 § 213 3 321 |

3 g9l SISy

132 + 213 + 321 = 666 = 18 x 37

3 TEATSAT 1 TR GEUET: 196, 225, 308, 446, 589, 678, 846. IATUH! Td
B o6 AMTRA 37 T WIST 71 T 3T TH IO BT ITAN K GA hl TG W
Gohd &7

FO 1 : T A 3l h wEAl.abe oY wEhE w9-E, wEeE @
bea 3R cab e HRUl @ abc+bca+cab. & WE 37 A WrT B

3Eehl U i & 8| WHT &Y ITIT L W

132 = (1 X 100) + (3 X 10) + (2 x 1)
213 (2. X7100) + (1 X 10) 4+ (3 xX1)

321 (3 X7100) + (2 X 10) + (1 x 1)
3 dE 84 W BAT @

132 + 213 + 321

1 X(100+ 10+ 1) + 3 X (10 + 1 + 100)
+ 2 X (1 + 100 + 10)

=(1+4+3+2) X111 = 6 X3 x 37
abe = (ax100) +(bx10)+(cx1)
bea= (bx100)+(cx10)+(ax1)

(ax1

cab = (cx100)+(ax10)+(bx1)

abc +bca+cab = (ax100)+(bx10)+(cx1)
+(bx100)+(cx10)+(ax1)
+(cx100)+(ax10)+(bx1)

=111(a+b+c)

6 |
L= 1
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fhg 111 = 37 x 3 31 oifgd 91 6 F&A 37 § O B

3ra: 39 fofr & @ & T Jpe4beatcab 37 8 WNH R
AT e Fe ¥ qS wRierl 3= W wehd 81 fre serw SRy
W 1 : = amea § P’ 3R QT @ Hiua we W Hifu)
« 9 1 1A il @ Toh Th 31k B W 98 9 @ Hfues wel
B Hhall 5 8 6 YT HET &l Al 1 ST Ueh, WIS aqdeht

4 1 P
Q 5 21 Hd: P=1 S @@ Q=1 8 U Bian 2| 31 wdeqo
5 2 6 T EGHd 8 411 #9115 = 526

3gET 2 : T oEwd d0A 3R .C ¥ glea Ik Fa il
T T 2 x A T AT 3Fh 4 81 A A=2 AU A=7 &
Tehat 21 fopdent = e
HE AT A= 28 Al 32/ x 12 o 0% 384 Bral 2|
3 A T C =3 Bl 38 foulia Afg A=7 81 dl 37 x 12 = 444
x 1 2 TR 3 TETS T 1 R § BFT 8 Wiesh 4 7| gEfeg
C 8 4 A=7 & A& Heharl 31d: Pl 7 A=2 3R Cc=3.

3G 3 ¢ T AFTRA H AB 3R C I A Ih Gad wd 8l 3w @
HifT 3 FEa oft g1 @Ry

e
TE T Yy R W S H AT A4BL+C H O3
ASAY 3@ “A+B=10, (A+B=0 ¥ & Fi7)
T BB wifs <o v @ aerd v w1 2 | iR B9 A
T C C 3w w ois @ # A e wE W e 2 @ s TE
B A C

Bl Hehdl| U B & Yo 2 § e & & "ohal @l 3T
Ig <@ Hehd 2 fob B =1 YT 2, IB TEE & 37| &l SIS
(BT 1 HF EU) A+B+C+1=10+C+1 3T 10 § 9 &1 W AT A
@ Wfgu] e B=1al A=9 3 C+1=9 HFUlq C =8 g < gral 2|

71
L 1
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99 + 11 + 88 = 198 S &l BIaT1 gl A B=2 @ A=8 3R C+1=8 UM
C =7 Wfehd 88 +22 + 77 = 187 S &l T&I 8 Hifeh Slig o WM W 1 § dfesh
2 & A WA I 99 + 11 + 88 = 198 2|

e 1.2
1. frit i et @ gfa s T B

(1) 3 (i1) 16 (1ii) 2A
+ B + 2A X\ A
7 B1 12A
(iv) 1 A A M 1 A (vi) 3 A
1 AA « 1 A x A
2 A A . B A 27 B A

2. ured & TfUTd § A, B, C SHATTA 37 &l diEdl dfed H A, B, C et =1
T 3 #17A, B, C S iU

A B C
+ C B A
+__ —_

WISHAT 3T AW (Divisibility and remainders)

WISTAT, qUiehl 8§ TEfUd Ush HEcaqul U1 8| 379 qd I HefS W AU Th
W] 1 QL H W THITH WITHA 3T A ST Hiem 21 Afg 91 =1 13 | |
R, a1 Ul W@ Biar @ 6 91, 13 @ gof ¥4 & wm Srar § 3R 99 $w
TEdl FE1 B Toh g 3gIET § Afg 85 W 15 § WIT @R 1 3 @ R 15
x5 =75 3MW 15 x 6 = 90 37a: 85 &I 15 ¥ YOId: WF &l & Hehdl|

s |
L2 |
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IIEAfIeh &9 ¥ A T W 5 Y%A 3R 10 I @ J1aT 2l

13)91(7 15)85(5
91 75
00 10 « 99

msﬁﬁqz4aﬁgn1zﬁmé%§,aﬁwwzs 3N Y 4 war 21 Afe
887 I 17 § W ¢ d WFTHA 52 3R 99 3 @l 2l

12)304(25 17)887(52
24 85
64 37
60 34
04 03

TH YN % 9 ®9 4 =¥ad *wd Bl
91 = (13 x 7) *# 0,
85 = (15"%5) + 10,
304°= (12 % 25) + 4,
887.= (17 x 52) + 3.
FT AT eEd & 16 0 < 13, 10 < 15, 4 < 12, 3 < 17 &1 &1 39 Foig
o Ghd 2 fp 9N, 9t O 3tfes @ gar 27
FRFAT 4 : 31 Tdh ged ¥ e 3R AY 719 HifS)
1) 100 =1 2, 3, 5,7, 11, 13, 17, 23, 29 3 31 ¥ 9 &4 W
2) 300 sl 37, 41, 43, 47, 53, 59, 61, 67
o ffieor = = =9 9 fore wd B

gfd(a R b S FUNHS Wed YTk g @l b > 0 1 AT g q 3R r Yol
W@H%Wﬁ? a=bq+r5|3:i'03r<b ?ﬁgﬂ%ﬁ%ﬁ? ‘b’ ‘a’ Eﬁ‘{!‘iﬁ
W I ¢ A I I B OAAW r = 0.

T TE T HoN g Thd B 99 U H@ H YRR S@ § 9 od
21 37 fawai =7 g0 anTell wemati ° i tewEm U i oft 79 3| e
T el @l WoH YR o1 Tehd 8 |

R
L~ |
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T A4

I i & T T 1000 § B T W@ HigU| 3 3H T hI HAS: 7, 11,
13 & WA ST HigT 3R e A Ao HL AT

T I % SN Y TS T I G& Td B ghd B

A AT o i T 128 MR ST 7 A UM S W AW 2 &1 2l 1 &
WAT &4 W 7 99 T@dl B 3N 13 @ 9O e W A 11 T Rl

IS ATHA T HINT |
(2 x 715) + (7 x 364) + (11 x 924)

Ife 319 38 TLA I 7, U 14142 Id BT 81 39 1001 & WA @S| 3Tmoeh!
1 B 14142 = (1001 x 14) + 128
s WY 128 7| 3Tk i 3 #@ §@ I ot R W W Iatad @l gul
W EA 5 W @
IO 1. AU T B 1000 H DIE T A HiEY|
IO 2. 3IY 3H T 7,11,13 T W FHIHLHEY R I 3 /Y FAH A
T 3. I TN g 1 FI H AL R T&@ T4 HINT| HH A I
I ¢, (7 W AFI/CH R W) 1, (L1 H YRS W), r, (13 F 90 & WV);
r, I 715 | o0 HIMIC, r, I 364 F, r, Bl 924 ¥; &AW ¢ fob 39 O SO
H &1 I T TUeTsy Shfed 3T UTed AThS i 1001 | 9T €ife) I S
wEdl 8, U i A T e Rl
Teh 3N ISR | IH AfSe 212,
2H @ 212 =(7 x 30) + 2

212 = (11 x 19) + 3 3R

212°= (13 x 16) + 4
HAd: 1, =2, 1,=3, 1, = 4
B I &4 (r, x715) + (r, x 364) + (r, x 924)

(2 x715) + (3 x364) + (4 x924)

= 6218
AfeT 6218 = (1001 x 6) + 212
WY W 212, 98 WA A& ¥ A9 IR feRAm omy

10 |
L1
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39 |4 @ 26 Toh I8 @A 8 S HAT ¢ HH T 3T Toh 0T qe&l
T YRY I 8 a< 1000, HH TNC ¢ B 7,11,13 § 9T & THAA: 1, 1,
3R r, I @ S €| Al g forE wehd ®

a=7q, tr a=llg, + 1, a=13q, +r,
QUi q,, q, 3N q, % ¢ 50 & wrew g @
r,=a-"7q; r,=a— 1lq,; r, = a — 13q,

3d:
715r, + 364r, + 924r, = 715(a—7q1) + 364(a— llqz) + 924 (a- 13q3).
= (715 + 364 + 924) — (7 x 715)q, —(11 x 364)q, — (13 x 924)
iR off 1w <@ T
7x715="T7x 11 x'13 x 5

1T x 364 =11 x7 x13 % 4
13 x 924 =13 % 7 x 11L/x 12

I 1001 = 7 x 11 % 13

FIT AU & H AELfE R ' 7, 11/3W 13 ¥ 9 o 99 W R
feran?

JAd:

715r, + 364r, + 924r, = a x 2003 - 1001 (5q, + 4q, + 12q,)

AT Ig &IF € Thd 8.7 4 x 2003 = (ax 1001 x 2) + a«

S A 7151, + 364r, + 924r, 1 1001 & 9T e &, A Fad ‘¢ A Tl
2 Fife 3= |mft 9g 10018 WT=T 3| Hfh o < 1000, ¢ HITS ITHA 2|
W E @ ¥ JHE IRy TR em)

HEHAT 5.; T d 4 I 804, 515, 676, 938, 97, 181 ™R g shifvm|

ATE 1.3

1. Fr=fafga T@nsti &1 13 3 90 & W I WIThe 3R %A I
i
8, 31, 44, 85, 1220, 2011,

2. frfaRaa wemstt &1 304 Wi e 3w 3R 9w 9@ Hifvw)
128, 636, 785, 1038, 2236, 8858, 13765, 58876, 123456, 7654231

H
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3. 100 & st UE oTeaw w@nifas §@ He Hive 8 19 & 9w o
W 12 A9 & R
4. 1024 1 HH-H AL TEAT gl W g8 181 I U ST 87
UISIal o e
Ife weh @A % A W 0, 2, 4, 6 AT § B dl 3T L hed & fob e
2 W WST 2| SHHI HRU T 87 AT UH! T a Hl a= 10k + r for@d & /&l
L0 AWM A WA AT B Ad: + 370, 2, 4, 6, 8 T & Ush H&ATZ| T
TE e R 10, 2 AT 2 o r o 2 ¥ T B 31 Tiolw § TR, 2. uE R
Ig Gl W 8 76 o W W | 2 9 8 3= gEnsn & WS
T T B Heh| ITRY, g9 UE e wen
1) 4 &1 wsa v FEw
Ife T W& 4 G WA & AL Fg 2 8 oft WA gt ' (S ?)
3AfeTT 3h1S T &1 316 0, 2, 4, 6, 8 § H Th BH1 =TT
AP 37 TS IS = ST 10, 22, 34, 46, 58 AT @I IIh
% T3 WM T I \SER 31 2 Uhg i W W& 4 § WS T 8| I
HI 3h1S T el G @R 0 4 HIHSTAT T T T&l hT Fohd | T
3ifad & 37 HM 3 g B
Ife ueh G=a # @ 30 g dl HSIan 1 e HiY 4 9 Al < Hehd
g 99 U] 4 T UETST IE T&AT BITT| A AT T sigl & 398 2 § 3ifers
i 2| 3R 112 3R 122 W fommr Fifsw 39 <@ 112 = 100 + 12 gHi
4 | ST Bl I 112, 4 T 9T 81 AfhT 122 = 100 + 22 I& 100, 4 &
ST g U8, 22, 4 9 9T TR Bl 3T 122, 4 § WS 8 @l

EXEN

Ife\a 3 b YU 8 SN UMb m » 0 & WST 8 @ m, (a + b), (a—b) IR
ab I WM _&(ITal R

g o o 9= % 4 % WISHAl %1 W00 B § Y GEHh 87

qH AT T @ 2 ° 2 ¥ AfIE 36 21 3@ 100 § 9T G a1feh wiThe
ql%ﬁ?ﬁ'qr_&;f,?ﬁa=100q+r3‘|ﬁ0 < r< 100 Eﬁﬁﬁloo,4ﬁm
2 a, 4 T AT B AT & qA IAT Tohd B ARG r, 4 H WST B AfRT ¢ @l

12 ]
L= 1
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a @ 3fq9 & Al T &1 BT 21 3a: I = wdiewr fEm s 2

T 2
Th T o (o & @ 31fis 3% ) 4 9 Faat avft W= Bt ® I a
% Jfqw @ 3ehl ¥ o0 T 4 ¥ WsT g R
IS 4 Stg HNT F=O 12456, 4 T 9= ® A1 A
T ¢ TSI AfH Q IThI § S @ BN @ 56. T Al 4 T WA 7| I 12456
fi 4 9§ 99 B
IERAT 5 ¢ W1 12345678 1 4 W WNT o Hehd @7
T : a9 Q@ 3R § o GE g 78 W 4 A WS" AR S & TS Hen
4 7 =g & R
HEHAT 8 : AT 30 i T 4,5 3 6 3Tehi hl AT ! ¢ IqEU| <4
TN 4 | OT & A1 T8 wier $ife|
HEHAT 9 37k 4 3T 5 3Thi hl TS I 8 H/UNT R, § 1 T
e sy
2) 3 3R 9/ WrHar qdeor FEm
2, 23, 234, 2345, 23456, 234567 31 TEn3A W fomm $Hifw| 39 T@d
2 T 37 6 T3l | shael 2343 234567, 3 @ 9T 2| 9@ 2 bl 9 &
T AU 3 3T O 4 B 91§ R T8 o gehd| e e 234
H 3 H TN O Tohd & Wihd 34 Bl 3 T U TE o Hehd| 3 TE 456,
3 W WST § W 23456 I3 ¥ 9O TE o Hehd R
HE%A™ 10 ¢ 1,11, 21, 31, 41, .... 141, 151 (W% @ 151 s axff T&a™
e 31a # 1 8) foiau ycieh Eea & 3iehi ol AMTHe A L Teh dTictehl
TAEY| i Gt GEAT 3 § WIST [T hITT I Ig U1 oFIST F&1 37ehi bl S
3 ¥ WS 27 AU sy @ 77
234 3R 234567 GEA3N W =R i ugelt T@am & 37 &1 A 9 B
R G & % 31 A1 A1 27 &1 A ¢@d 8 6 g+ 9 R 27 SHi 3 &
T 8 (9dd § 9 ¥ WIS B) | HAKY, 38 2 3okl shl 3 3okl sl I 4 i
%1 T3 % Hed W AT = 9 8 Ghdl 21 A n=ab S a1 37! I
e,

F13 1
L1
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n=ab=(10xa)+b=9a+(a+b)
308 UTe BT ® % p, 3 @ 9T AAT T (a + b), 3 W WA BT Bgh @
m=pqr ® dI,
m = pqr =100p +10q +r
= (99p+9q)+(p+q+r)
@ (p+q+r), 3 ST A A m ¥ 9T Fawl

FT T E ed & Th 80 9 1 Wroaar qhe g s91 ghd 2l

m 9 T W &N Tohd & had 5@ p+q+r 9 T U=T & 3 W&
‘4’ IRl S TEAT AYAT ITUH. B! bl GEAT 1 FEH-SAT Fehd 21 SH e
234567 o 3Tl &1 SIg 27 Bl 31T S= L Tohd & 1 234567, 9 T 9T &
RIEEE]
TeH 3
T YOI ‘a’y (37 F WIST 2 AT 3TH 3l HI IS 3 ¥ WNT B Th YOI
‘b9 W WISI_BIAT & ARG IR BT 9 H WNT gl
IETEAUT 6 ¢ ST HITT &1 12345321, 3 U WSI 2 1 AE1? ST 98 9 § WST &7
EA MBS 1 +2+3 4+ 4+5+3+2+1 =217 HAd: Ig FG&
39 9T g dfcsh 9 § & | amd § 12345321 = (9 x 1371702) + 3.
ISROT 7 : 1 444445 H 3 W W A Eehd 87
BA : Ih BT WS 258 S 3 T UST T B| HA: 444445, 3 T 9T T R
&l Awwa ‘1 R
3) 5 IR 10 w1 eI udeur fem
FEwA 11 : 51 ¥ 100 T 5 % o fAfau | T 5 & U & $h1g TIH
&1 g drfersht # ferfay
FT AT ¢&d & fh 5 % U o I LIH W 0" HAYam ‘S’ Iufeya 81w
39 39 fhem 4 5 3R 10 1 wisgar wWew few s gehd 87

14 |
L1
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A 4

T QUi ‘g, S’ W adfl WIS BT 9 3IUh IHE W H 07 IgEr ‘5
B TH G 10 ¥ 9ST Bl 3 9 35 b3 TIH W ‘0”7
IS 8 ¢ 101 3R 200 & = fopadl @@ ‘S’ A W=T B?

T : 101 3R 200 & g ovft st & ffay {9 368 T W 07 3AET
‘s’ ®: 105, 110, 115, 120, 125, 130, 135, 140, 145, 150, 155, 160, 165,
170, 175, 180, 185, 190, 195, 200 J& 20 T 2|
IO 9 : T WEAT 12345 I 15 W W O Fehd @7

T O T 15 = 3 x 5, fq cq S 3 3R S o " ISI R | &
T 15 § 9T g fag =0 & 9 a1 wiw 2) T oft v s fem ora
forg i1 R1 SSEW 4, 12 1 MW FEIATHAT 6, 12,1 WA ST & T ST
TUMGE 24, 12 1 YT & ST &1 91 3T B3 T80 S91 Fohd 817 318 WM
WSYEIE S AT AR B A 1 + 2+ 34 +5=1598 ‘3
¥ Iy 2l

. 3 3, 12345 %! WE oAl 2| 31d: F8 sy feherar & f6 12345 =1 15
¥ HE O HRd 2

ISR 10 : 201 | 250 % g fohaHl T@AW 5 @ WT g Sfosh 3 ¥ EI?
A : FET 5T 9T E@ANAR | 205, 210, 215, 220, 225, 230, 235, 240, 245,
250 | 37 SIS h IFhl HI S 7, 3, 8, 4, 9, 5, 10, 6, 11, 7RI HH
‘3 g YT TN 3,6, 9 3 E 5’ U UST 10 TSN U H hadd oI T
I 3 T uSg B 7 BEEN 37 @ WS TRl R
4) 11 &1 WeTa gdeor Em

4587 \&q W feam FifSu| 319 I R Thd & 6 98 11 9 9= R
(ar&da §.4587=11 x 417) g9 W +ft for@ @ 2:
4587 = (4 x 1000) + (5 x100) + (8 x 10) + 7 = (4 x 1001) + (5 x
99) + (8 x11) + (-4 + 5 -8+ 7) =(11 x91 x4 ) + (11 x 9 x 5)
+ (11 x 8) - (4 -5 + 8 - 7)

3 TSN § ¥ Uge 9 hIsgehl <l TN 11 ¥ 9IS B| Id: 4587 H
11 9T q8eor 4 - 5 4+ 8 - 7 W it wtar 31 57 ¥ o <@ w=m &

15 |
L1
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31 TETfase B1 8T M i o6 g + 3R - U % 91g U Qeld §1 |
AT 4 - 54+ 8 -7 =03 11 ¥ Y9 =l

31efl Tk 3 3Rl < =T 429 W fomm hifve) 319 S 9 S R Eehd
2429, 11 ¥ 9T 2|

429 = 11 x 39 2

3aoh faulia

429 = (4 x 100) + (2 x10) + 9 =(4 x99) + 2 x11)+ (4 -2 +9)
Fifeh 4 - 2 4+ 9 =11 St fo6 11 & w=w 81 39 fpd W 31 Thdt

6 429, 11 & 99 2|

Teh o9 37kl shl TEAT HAYST 4 37kl shl T 6l S HH H Hehd 27
M AT n=abc UH dH ST H G@N R |
@, n=100a+10b+c=99a+11b+(a—b+c)

THAE ‘n B 1T BGH T A G 8 AE 4 b T 11 ¥ 9
gl afe

n=1000p+100q+10r +s=1001p+99q +11r—(p—q+r—s)

Ha: n,11 & af WrF @1 & 99 (p-q+r—s) 11 § 9T B 2|

7z from aft femed ol o &% T g § ot e fhad o 3 Al
A 5
T T ‘n’ @EER § fad 99 W, 3 d €= - W + fu=
ST (3R INThe Fd hifSE| & T 11 H WST Bl A«
1.8 9T 3| SHfT Tk GEN & fouw wWE % el &1 g qul
g T & bl Bl W, b S K FAR 11 ¥ AT B
QAT 11 : T 23456, 11 T 9A™T B?
TA AR ANT 2 - 3 +4 - 5 + 6 = 4 AR zEfeU 11 § 9T &I R
aRd T 23456 = (11 x 2123) + 4

16 |
L= 1

Downloaded from https:// www.studiestoday.com



Downloaded from https:// www.studiestoday.com

ufergm T T N Rt AR & Qe R AYe Sfel AR § SRl IR ued
W I8 G Tl 81 39 AE  USIH Uk HE&A ‘n’ @ dlieh 3Hh 3ol i foudd
FE W B o g@n v’ A R

3CTET : 232 Th o Fehiarell Ufelgly & 81 5445 Th 4 ehiare! UfergH
& Bl

ISR 12 ¢ 11 & wisw o} iehiare dfegmy s il

g A Siniaren Ufegim gp, ®9 B =R, FEoq #0431 b SF 2
Jg 11 T uST I 2a—11 b ¥ =T Bh| T8 Ofl G99 B I9 0gq b =0 U
2Ja—b=11 JYUA 2a—b=—1] FiHgx] I p<9 2l T A &1 & T
2a-b>2-9=-7>-11 3 2a—b=-11 ®¥E ¥ &l "W =i
2Ja—b=0 @ 2a=b; 38 e a=lb=2,a=2,b=4a=3b=6 3N
a=4 b=8 W 8| 8H 121, 242, 363, 484 GRAMN AT Bd &l a=6,b=1
% o0 & 1 & 8 B 2a-b=12-1411 3@ 11 ¥ w9 2| 36 T@
a=7,b=3a58b=5a=9b=7 W IY & & 2a-b,11 T 9T gl
2l g 9R AfuH-T@m uTed g1d 81.616,7737, 858 3T 979,

3rd: IMfera T@a 121, 242,363, 484, 616, 737, 858, 979

3o 13 : fog ifSu 12456, 36 & W=T ® &H W, A9 orkqd | o 9w
T, YT sy

T : UEd &IF U % 36 = 4 x 9 | zAfT T® HTH B TR < M T
4 3R 9 H W IIST B| (1€ | 98 ALEL H 36 § Wiy &) 3ifaw @ 3ehi
T ot mE 56 W foam hifsw) a8 4 § 9T 21 S 12456 H 4 T 9AT o
Tohd 2| 39 Taudid, 37l o Jig 18 8 3 9 § WIS g AT 12456, 9 &
f W= 2| T WY od € HeE 36 ¥ WiST 2l

FEE 1.4

1. Towem foma fomn, fafafeaa 3, 4, 5, 1150 @@ 1 9T 803, 875, 474,
583, 1067, 350, 657, 684, 2187, 4334, 1905, 2548 T afiehtul
2. 1001 @ 2000 % sfi= ferat H=AW 4 ¥ WsT R

117 |
L=’ 1
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3. AA Wit ws fiA el T . @ wa 'l fag difm

abc + bea + cab 9 § WSd R
4. A 2a3p, 11 § MR A a4b & WS oI F1d i)
5. fug Ffe f6 4 il i dfegm dEm 0w 11 ¥ 9T R
Sl

FIT MY 1 T 9 qh TEAISAT I 3 Ulaadi H q1 3 Wi § SAaferd T Febd
g d1fer T ufed, T q faehol &1 JiThel THH ® 7 FefeiRgd saewt 6
IR &= g | (e 1)

81116 6|1
31517 71513
41912 21914
=1 == 2

IR S 0 FRM fop I Ui H1 AT 15 B, TAS W BT S 15
3N T faepul HrSie 15 81 3o e 2 0 w99 i sgew X Ehd Bl
SHI STgs o %S W ¢@d & ¢/ Gl ol | Hed o1 wv (1,5,9) 7| EEE g
@ (8,3,4) S fem 2 A 3w oy 1 9@ W WY @ oM R| 3 9w T
1 T g9 qifet W (6,7,2) A 2 % 699 91 WH § 9 g gHU Sgs o
W HH % g KW, Sifed H AW gl 3W ANGA 1S W WIgE anTEA
(magic sum) %&d. 2

T VY g o B T b w1 faue 22

ool Sull ufd & % @H A IRY W agl 1 fofen) s =
framian e Hifs

d
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fram 1 : 99 @ feht 3R fool % @ afe aul @t @ 9 g8l oFen
g fafan)

4 4

gt faeet % & T o @ @ @ e s frad 2

fram 2 ; fowol & @ 9fe @l @F T 8, AR I W R, A
WY & T8 e @e W erret gen fafew) fem 1 smEm fifvw

i frt % 6w @ @ § A w5 R
gt 1 % are fael % ae S8 o wel T8 j1dl 3 WY % ged
et =t # 2 fora 2

1 1

2

w3 : afe i @m, forel & @1 @l 9 @ 3R M e =Y
TE ¥ @ el wEE w9 @ FW % ufed IR SR ey 98 @e §
selt g uitw i fem 1 % sgEw i

(5T 1§ @A, et & @ @refl 9&i aTfeh 39 2 | 3 = 3R 8W
aft sAfm @y d B) 31a: B9 SW HI ufed § a8 3R e 9n
TH o3 W Bl)

e
2 2

fem 4 : 7 T o W0 @H W TgEd @ S 9ed 8 WO R
3a% feet @ W IRe 3R w1 srgERe Hif)
(w8l 319 foerol @71 3 @ 3l @M § TE S Hehd @ wEifh YA ©

19 |
L~ 1
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g8l 1 81 31d: 80 3 % oo @H | 9 @ 3N 98 4 9 2

1 1|6

3 NESE

fam 5 : afg s ge fawel % o@ A wgud @ @ faeet % Em
faet @H # arTell g Wit iR A fem sgE i)

(78T g foehul & 37 ° 6 B| T@lY, gW Wk Foet @ H e
& 7 WA &)

315 31547
4

3T @ o 3 x| 3 g8 oF ¥ UL B &l UEdl Ufed % Wed @M H
TRY i & Igei 1 faed 21 e fremee g hifs, wbife fawot % @
& Tehd | BH ST WH & feet @A 2 & 9itw 31 g9 faset % @ o d
Tohd 3T M B WY T8 2l g0 99 3 A R SN & ufad 9 g 3R Ted
s @A 4 3 wfw) 3@ g9 fosel % @ S 9@ wehd i 9@l &1 @ UEd
¥ U gl 3fa: fm 4 amp i 3R 9 @F | o9 8 3us e @e |
TEU| FEf 4 wd & IR faepul & @ SR 5 3N 6 W B) T g I g e
Fifh a8 gt foeul 21 80 Fem 5 3w a7 3R 3ifm @M & e @
¥ 7 9fw| 39 frag 3 3w o ufdd & 9 @e g 8 foted 31 3w fRm 2
IR, IS WH & FEe @H § 9 wd 21 3R SigE o AR R

SshAT 13T = e 2|

1 1 1
Stem 2 o —>ﬁ?m3—>3 N C o RN

g
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16

31517

2

—)ﬁl’qql—)

—>ﬁ'€ﬂ={3—)3
412

E

—)ﬁ'ﬂql—)
4

—)ﬁl’qq2—)3
4

FREFAT 6 ¢ 1 § 9 TS I IWN H T8 WH 6 FA(H TH Hd 8T
3 x 3 WGy S3E| foA 1 % g3 O hH qOHIH @1 H c@il 7 g8 1S
3R STGE < Wl WM W HEdT e Hefud 27 3H 11 % SEIsti & W

% Sgs o I T I
T : T TTHAT T TEl 37IRT T HLd SN TgSl SUAPT TohAT o U 1 % Seet
T 3 U URY W 3
3 3
Stem 2 o SN Et BN _yfrm 4
%
3 3
5 5 7
—)ﬁTITII—) —)ﬁ'ﬂ'ql—) —)ﬁTWS—)
6 4 6
38 10 3
> 9—)ﬁ'€l'q3—)5 9—)&@"?2—) 7 9_>ﬁ2m4_>
6 4 6 6 |11

Downloaded from https:// www.studiestoday.com




Downloaded from https:// www.studiestoday.com

7El SMgg A 21 Bl
FHE®RAT 7 : | § 25 T HEASH A TN FA 5 x 5 Fgg o
ot hiful 1 SgE Siie 3R SgE o % wew @ Wl He § ow €9y 2

FAEE 1.5

1. 5 € 13 T HEAI3T 1 ST Hd §C 3 x 3 1 g3 0 SA18Y| I8T HIgs
SIE H B? WIgs e 3R &= % WH h T § TEY 7T 27

2. 9 ¥ 17 &A1 ITAN HL 3 x 3 1 A1Gs o hl a1 hiloIG| I&I /g3
S T B7 SgE W IR wey A i T § o wEyeE?

3. fioct ufed & HEA % @M HURH A gC 1 § 9 TS HT TR B
3 x 3 W g3 & SR

4. 19 17 T o 90 G@AT3TT BT TG L §Y 3. % 3 1 A1gs I Y

5. 1§ 50 e |9 EHEAST BT ITAN L 5% 5 1 G a1 ! L1 HITT|

I A TES Y ST G B 9H4 &2, 3, 5, 7, 11, 13, 17, 19,

23, 29, 31,137, 41, 43, 47, 53, 59,61, 67, 71, 73.

W IS ANST TN B |

I T 3 A | eaH g

(3, 5); (5, 7), (11, 13),(17,.19), (29, 31), (41, 43), (59, 61), (71,73)

T AYST TS H 2 H1 A gl W A GRS hl JS AU’ haEd

%l@aﬂwwsﬁﬁﬁ (tWinprimes)W@ﬁ%WW%?

Tt 5 Hed | Tics o GHE g fhd fordt ® T8 21 ¥ 1742 9 W

ool an g iUl e §fw 4 = 2 + 2,6 =3 + 3,8 = 3

+5,10=3+7,12=5+7,14=3+ 11, 16 = 5 + 11 g=iQI

ST % AT TMeg 9% 4 ge  Heprall 1 2 | 92t a9 9 I g 19T TSt

T Ag 2| HRU I TR | §8 TIH W T 5 T2 8 3T 7M1 S

2 T o8 w9 B| <fte @t +i3 ivrdie sudta &8 21

4
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T YT §&AT n 310 Gt AT ATkl T WIS &l 39 |qU T
FEd | (1T T hH! BIGHL ATh! WTSTehi T IS) YW TYUT HETT 6 8| b
N BTeHSh WStk B, 1, 2, 3, AR 1 4+ 2 + 3 = 6, 36 TE 28 % WNH
21,2,47, 1431+ 2+ 4+ 7+ 14 = 28 307 aqvf g&I0 8
496 3R 8128. 3 i I Iawe 4 W fwrem| gfaee 7 fag feeen
27(2°-1) =&l p wh TS e &, @ ar WYl wen B 1 el or
Th FAWST EE& 2|

op _ | ®F % TS TS Bl FWEH (Mersenne) TSI had & (THorast AT
)

o _| T ST HEI g 9§ . A EN AAfehd |t on_ | &9 % &
2 ST TE B | SRl 0l L= 2047 = 23x 89, I AT T Rl
hE hl HEHAT § Ik YU GEY T R Wk &1 e 2P (20 1)
gefts& p= 2,3,5,7, 13,17, 19, 31,61, 89, 107, 127, 521, 607,
1279, 2203, 2281 ; %S GY0T TEATT 8| HYO G T FE{Ud 3h THETT
& fhd fomr @ R

1. I EYUT T ST 27 (T HEA 9y ot IrEwed 27)

2. 39 q U TV TN 99 G § R’ fown gyl T off Iuetsy 7

vegrEe

TS . T YU ‘g, I U QUi b’ W WA
g Afe a:qbﬁﬁq@‘if’ﬁ?%l

YIRS . 3fg a:qb,Fl‘ﬁ a,b=0 Tﬁ%ﬁﬂ, a
H p UHNEH W q AR YT BT

ITHA : A a=bq+r & 0<r<b FHH UIH a
IR T &I b, & fIT, 9 &l p &
9 ¢ W ¢ ¥ @l 2l

uferem : T T o arff 3R ¥ Yen et IR g
Ted W E FE E®dl R

tl%?ﬁ nﬁwmﬁ:ﬁmﬁnﬁm

(=]
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ITCHT 37 ;T TR § Ul 3IERK S IS oA 9o
H Thd 2l

AT e HeH : Uh B S HE B W] UK T MO
SHTOT T |

g o (3Th—) ;. geeh | wafed it S 9w, ufe
qur foepelt &1 S THE BT B

Tt FE ;T T HEA S 30 F B1e aefi oot
EEICR

fegm 3= ;IS TS A it o | 27 1) I B

A 31T : oplvEg § e Wy (A 2p-1

FE, 2 fifvaa wud posft st gm)

RICERGC Y

® T Vi T hl CIHIR YUt UM o o= &9 # for@ dehd 2l

® Q I ab>0 fed I W W fafdme quiis q 3  Iuctey 2 aifep
a=bq+r W& 0<r<b |

° TH HE % Il a1 3h] U SHL SN FEAT AR 4 ¥ Wi a1 &) T He
4 F =g Bt R

® TUsh TEAT & 3Fohl I IS 3 YT 9 T WS & ol & TS T 3 AU
9 ¥ WS Bl R

® TEN % A H A 0 YA 5 B A N T S W WA Bl B

® Ush GEIT o fUNH TAM] o 37eh] o1 SIS qAT TH TAMI o 37eh] 1 SIS
A1 H 9T B A &R wE 11§ aST B R

3T

JFFE 1.1

1. (1) (3 X 10 ) +(9 X 1) (1) (5 X 10 ) +(2 x 1)
(1i1) (1 X 100 ) +(16 x 1) (1v) (3 X 100 ) +(5 X 10) +(9 X 1)
(V) (6 X 100 ) +(2 X 10) +(8 x 1)

EYE
| 24 |
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(vi) (3 X 1000 ) +(4 X 100) +(5 X 10) +(8 % 1)
(vil) (9 X 1000 ) +(5 X 100) +(2 x 1) (viii) (7 X 1000 )
2. (1) 56 (i) 758 (iil) 6058 (iv) 7006 (V) 1010
JEE 1.2
1. i) B=4 (ii)) A=5,B=4 (i) A=5 (iv) A=0
(v) A SHEBA=0,B=0 3R A=1,B=2
(vi A=6,B=1
2. A=3,B=4, C=5
JFFE 1.3

1. afg S = (q, r) YHId a1 & fFFTaS B 138 9T T q YIRS 3R
I r Bl

dd 8 — (0, 8);:31 — (2,5); 44 — (3,5); 85 — (6, 7);
1220 — (93;11);

2.3 S — (g r)gHad w1 & 5 F& S B 304 T 9N I W A
q W% 3R WY r B

Al 128 — (0,128) 636 S3(2,28); 785 — (2, 177); 1038— [3[ 7
(3,126)

2236 — (7,108);.8858 — (29,42); 13765 —> (45, 85); 58876
—5(304,204);

123456 — (406,32); 7654231 — (25178, 119)

3..107 4. 62

I, 1.4
2. 250 T
4.3 w9 H 3MavIes TR 3 11 9 WST ?: 4939, 4037, 4136, 4235,
4334, 4433, 4532, 4631, 4730. 3d: a+b=18 (4939 & Texl H) AT
at+tb=7

[z |
| 25 |
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FAFE 1.5

1215 (10
11
8 |13 |6

JMGs HE&AT 27, W HEAT 9 B, §H WM B 27 = 3 x 9

16|19 |14
111315
12 |17 | 10

FEl Wgg g 39 71 HE hi HWEA 13 81 39 = 3 <13

4

715
6

IZ T G H1 o1l 7| AW W = 1g % M &1 Hepd &1 B H 1 IH
3T 7

151 |11
51913
717 |3

34148 | 2 |16 |30
46 | 10 | 14 | 28 | 32

22136150 | 4 |18

i
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ueh - 2
a9

TH A Wl AIA HH h dG, AU @A
o TERMAI & Hd FR STH TER |
o TEEE W e AR wer |

o SIS S &1 UAHA; TH UGl & TH 9ol o, fguel @i .us uagr
g, fgugt =1 GuEt 9 (x +v@)(x + b); (@+ b’ (a — b)? IR
(a + b) (a- b) Mfg & AqedR HaT
TEATSAT
TS 8 I HI T3 HO WMl Bl TN B ;
T Gohd o 1 I fAfad qow dar ? U R wed @

IR : 5, -7, 2%,\/5,2+\/§ 3T
T Hehd fomept i3 (fvad, qoa #el gidr; W W HATeRehdl JIER qed
fear S gehar @ SH = YT AT Ue HEd 2l
ST ¢ p, g, x y z Al
ol
1. U T2 3 Ush ={eh 1 G I BidT 2l
3 3y, (4 + p), g,g,x—4,9x3:lT%.
2.Q I @ 9 3feh U 1 GIAW AT ol Teh = & AUl Tk R 2|

X Xy
qur[ : X)s ya(x_y)a(y_x)a_xa (X+y)7xyza ?

x 8
13+x—-y, 14—y, 10 —xy, 7, |
x—y, 14 -y Xy ¥ xy(‘FlT%
S T (4+x) + (4 —x) = 8 I Th R Bl

[ 7 ]
| 27 |
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Th U2, U &0 2 (FRUeh), U =i ; 31aT &A1 37 Seh] bl T
2; (A% YAl YHTHA)

Tx 21 yz
—, T T

3IQEWT & 9, x, 3x, 4xy, E, v’ ox

Teh Ug HYUET ANTHeT ¥ T[S T AT ek el b1 A (S 3N aehei)
3R PHRAT Tohd (TPHHA 3R WATH) SiSi" shleh s91d 2|

Tx
3qeUWT ¢ 7 — y, 3x2 — 4y, 6xy, 6 + x> — 3x, (7)"‘4)/_62 3:”&
GO : %S 3T AFTES <6 Hohd Ug) bl STTT-3TE Tal o ; Iereony ;
LA s
9x?4y or 7y g Ueh Uqg &l
Th 1o/ =5ieh [0 & I3 U¢ H hacl RUITcHeh @id SEdTcHe HTdish &
= BN 3; 3§ g UG S (Polynomial) HEd 3|
IQRAUT & x? —4dx, x —4dxy +y, 6,5y + xp + xy, 4

T fiolg ok f5@ T ol Th U A BT 8; W UG SR had 8;

5
3qlgUUl : 4, H, X, 6x, 8xy, IxX%y, yzx, 5x’yz C‘HT%

o <o S| 4 3 ue aifase 815 38 fgud™ (Binomial) #&d 1

QAT ¢ 7+ x, xp — 7, S5xp, 3x* — 6xy, yz2 + 2z
s &rer, g 0 @9 ug 8 : 38 Bud™ (trinomial) S99k HEd B

QRN ¢ 4 +x+y 6x+ 15—y ax* + bx + ¢, ax + by + 2

o %+2 I8 Th SEU SR 6l 3; I8 hadl S =S Bl

g
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A 2.1
1. =i o e 3t = 3rerT-3ren #ifse)

12 +2z, 15 — __3 (2X) wd , 1, 7-x, 6x+4y,-77,
R > 82 2

8xy y 3 (2x)

3w T 8yz)”

2.ﬁmﬁaﬁ@qﬁa;w3ﬁ1ﬁqﬁmﬁaﬁﬁwﬁ;ﬁw'

Txyz, 9 — 4y, 4% — xz, x — 2y #°3z, Tx + 22, 8xy, %xy 4+ 5y — 6z.
i =itk
ox W fomm Hifu| 3ad g 3wadd ;9 3R x | 89 9! HEAEHS HEIUNHh
FEd ¢ | (v RRIE SUTT 3 TR TEUNE); ¢ Th W & (31T
T ST AT ST HAUMh 7) STUAT 9y W o= hifT &t x 3R
@ =% B; EH 9x I ol HEUNH HEd 23T 9yl x T T8 TN Hed 2|
Fr= fafga arcfist =0 e $ifsw)

UTASY | TR TEITHE §g | il g
T fRRmE [T (RT)
—8xy y bl F’E":[UHEF —Sx% -8 X
x 1 HE TOTH 8y B -8 y
—SWFEZ[WW% — Xy
xy,aﬂWW—S% -8 —
go
1.9fe 1T AU (ITh) T Bl o8 T 8 38 T4IHS HFT ST 2l
2 Ffe =W 1 =rdieh 9 &l; a1 1 "Ed 2
3.9f¢ T 1 TEATHS HT TGO 7 &1 al 1 THd 81 IaT : x Bl 334 2 +1x.
4.7k & T % g TG H Tk HI A Telich & TguS H1 TIdh T 2

At R ot ue
T & Ui % GAH = I UGl I BT UE hEd 2l

[ o |
1 29 |
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1

3IqleY0T & Sx, 2x, 7x — 9x, ngHT%;
1

X2, 2x2, 6x2, 9x2, 7)62 3:|T%;

1
X3, 3x3, 7x3, —9x3, §x3 3:|T%;

i - o= ardres o THE =/ IYET T g AYa U= grdie StyEn fiw-
i = goa vg faemdt ug wea E
IS & x, X2, X3, x4 X° 3:|T%, Xym, n,p:‘mﬁ, —X, X), xyz\'ﬂ'lﬁ
Tg UGl H ANEA AT AT
3TEC e B9 Uk o T o AWEHE qUT SFheld U-UHT hl TR
o |
1. T STcHS qUITehl T SIS ETcHsh qUITeh BIdl 2 |
(+7) + (+5) = $7=5= + 12
2. G AUTeHS YoM bl 1 SIS ROMCHsh YUieh Bl Bl
(-7) +(5y="-7 - 5=-12
3. Weh THTCH 37 Ueh HUMeHSb UTTeh 1 SIS BT BidT 2| AfG Kl
quiieh T T YA FTAS Hed ¥ A BT 2|
(+7) + (=5) = +7 =5 = +2
4. T AT qUlih TR HVTcH qUTish <l SIS SHUTcH &Il & ATS FHMcHsh
quieh I TH oA TS YU § ATk &l
3 () (5)=-T+5=-2
5. N EARES qUiieh T MG OHTcH YUTTeh gidT 2|
3G (+7) X (+5) = +35
6. € FUTHS qUlieh 1 UH%S TATcHS BIdl &l
3 : (7)) x (-5) = 435
7. Ueh EIcHSh 3 Teh SRUMTCHeh qUTish 1 TUthel SRUITcHeh il 2|
3G (+7) % (=5) = -35

[ 20 |
30 ]

Downloaded from https:// www.studiestoday.com



Downloaded from https:// www.studiestoday.com

8. Uh HUNCH 3N Th ©TcHeh OTieh <l TUMGBel RUTcHS Bl 2|
3G : (-7) % (+5) = =35
3 TEUEE e 3R ven F e fram w2
1. T UGl il Sg ot Tehd B A1 " off wehd R
2. fourelt WGl I A1 Se Wehd B AT AT T Hhd R
3. GATA UGl <l SId AT T qHT ; I TE&ATHS FgTUIeh SIS A1 T2
il
AR 1 : SET 52y — Ty I oy
A : Ugel fem wwe iy
(5x%y) + (7x%) + ()= 5 + (-7) + 9) x¥y
=(5-7+9) ¥y =7x
7g gfow Wig 2| 38 wWWier § ff e whd 2
+5x2y
~7x%y
+9x%y
xy
& Td Bl ®; T &9 U TUTRl @l Sie R WU SO I o W@
Tehd & |
IARAO 2 ¢ ST 72— 4x + 5 3 9x — 10.
T : F&T faodl Ue 21 89 had Tl U SIS Hehd B; SIS 4 H WA
B % [0 @St 9qf Sl T g % A foEd g

Ix>—4x + 5
+9x —10

x> +5x -5

E
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IARAT 3 ;S 8xy+ 4yz — Tzx, 6yz+ llzx — 6y I —Sxz+ 6x — 2yx
+8xy + 4yz — Tzx

+ 6yz + llzx - 6y
—2xy — Sxz + 6x
+6xy +10yz —xz + 6x — 6y

T : J8l T fooird 7e 3 8| &0 ISl Uei bl Ush & A Teh T@a
Wﬁ@;@ﬁmﬁmﬂwmﬂsﬂwmé|xy=yx3:ﬁ'{xz=zx.

IAROT 4 ¢ ¥+ 52 4y ¥6 H T 28— 22 + 4y .6 HIBYY

T : UEN WA § U % 0T W G UGl i Ueh. g i ATe Tt
31 e e fo5 g9 Tef¥a Tervent 1 Herd §| OTcHS ST " & Y 7
3T HEAT ! UMcHe BT SIS 8| SAT 89, UM  Ual & (U8 Scd & 3N
" Sig fean R

+ 1 +5x-4x+ 6
26 —x*+4x -6
(2) (1) (4 (6)
—Ix + 63— 8x + 12

Teh 91 T & 3 g9gE & de, 9 T w9 9 @i nfa 9 "o g
(3 Sx? =4x + 6) — (2x° — x* + 4x — 6)

=X +5 -4+ 6 -2+ X2 —-4x+ 6
=1 -2+ G+ 12+ (4 4)x+ (6 +6)
=—Ix¥ + 6x> — 8 + 12

=+ 6x2 — & + 12

[ 27 |
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ARG 2.2
1. Gt 9ei ohl arffeptor shifsa)

1
4x?, gx, —8x, xy, 6x°, 4y, —74 x*, 8xy, Txyz, 3x2

2. WA W
(1) 7x — 9 + 3 — 3x — 5y + 8 (ii) 3x* + Sxy — 4?* + x2 — Bxy — 5)?
3. it
(i) Sa + 3b, a — 2b, 3a + 5b
(i) x¥* — X% + Sx” + ), = — I? + )4, 3xy + 9n?
4. TSI
() 8 T " —2xy + 3x)?
(ii) 4a + 6b — 2c T B a b= 2c.
TEUEEN T [UEEA
= ey W sEm R
(1) 5x x 6x*=_(5%.06) x (x x x?) = 30x°
(i) 2x x 6y % 8z = (2x X 6y) x (82) = [(2Z/* 6) x (x x y)] x (82) = (12xy) x (8z)
=12 x 8 ) x (xy X z) = 96xyz
W T @ W H foam wed R
2x X 6y X 8z = (2 X .6 X 8)/X (x X y x z)] = 96xyz
3 L LI
i I ONCIeY = SRl b TRl B T[UHHA
TUeTed Sl S e = af SiSiE UeEvEl #1 uEEd
IR 5 ¢ 6x IAN 7y B UEHA HId HIT
B (6x) x (-Tx%y) =[6 x (-7)] * (x x x%) = (-42)x’y
M G

Qﬁgqxxxzy=(xxx2)y=x3yaﬂw35{ﬁ%l I TIeq]
H W Th O TUh bl UM KA B| IR AT b W ST
L SATh! Bl T B 8 17+ x = x0T g I 5 TR
# & fod; 8 s srerE s

[33 |
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TF UG Wl Uh UG @O0 A
IR 6 ¢ 4xx 5y x 7z T UEGA A HISTT
TA D dxx Sy x Tz=(4x5x7) (xxyxz)= 140 xyz
IO 7 2 2Pm x 3> BT PEGA HT R7
TA 2 2Pmx 3mP=(2 x 3) x (B x I) x (m x m?) = 6Pm’
Tgl g9 udih % EH ITE w Rl

X gt gt
ok o@ W ol @ on wn

9x 103 = 927 PH%A W fo=m <ifsw) @ T g i fore awd 2
9% 103 = 9(100 + 3) = (9 x(100 + 9.x/3) = 900+ 27 = 927

T 3 I T BAVE o I@1, &9 AFThel W IO i faawor frem 3o
o 21 5 U fgudt e &1 B9 s foau™ ST id 81 39 a@

2(3x + 5x) = [@x) x Gx) + (2x) (5xy)] S [6R+ 10x]

ISTET 8 4 (8y * 3) x 4x =1 Turersyr fasgifea shifsmu)

T 1 T A E

By +3) x (4x) = (4x) x+(8y +3) =(4x x 8y) + (4x) x 3 = 32xy + 12x
= 32xy + 12x

& &9 A 7O 1 0 fafma e ik efauresa foawor frm oft 3w fepen
2| 3R am & oo e oft st = 9T W TR Bl
8y +3) x (4r) = ((8)) x (4x) ) + (3 x (4x) ) = 32yx + 12x = 32xp + 12x
Fifh wy = e TN HT sHATaRE w2
e
gH HEmal & et e sl =l % fau ST ed R dee; e
feafomr; arares & frm; foaeor frem, wifs a1t fafear 1 5@ &9 31 =gt
% foru gou yfoeenfua @ 2, a8 @& g |

fgudt = fgud @ on =
e (4 + 6b) 3R (5a + 7b) T TgudRn & HET W fo=m <fifsy

=1
1 34 |
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(4a + 6b) (5a + 7b) = 4a (5a + Tb) + 6b(5a + 7Tb)
= [(4a) (5a) + (4a) (7b)] + [(6b) (Sa) + (6b) (7b)]
= 204> + 28ab + 30ab + 425
= 204 + 420 + 58ab

JA=TE 2.3
1. frafefaa & uh 9w =Ioihl & MBS 6T dTferehl qui shifeg|
DL N 3x 6y | 4 | 8xy |9y | Allxy?
Tt |,
3x

4x?

—8xy

9x%y

—11x%?

2. 1 % PHBA I HiT

(1) (5x + 8)3x, (i)(3pq) (~15p°¢ — ¢°),
(iif) %‘(3a3—3b3); (iv) -2 (x — 15)

3.fm= 1 @ W Fifse
) 2xy — xy) Bxp - 5), (i) Bx* + 1) (4xy — 6x97);
(i) (3 + 2x) @x + 3) @(iv) @n® + 3m) (5m — 1)

farforee U (Special Product)
319,84, T fafsrse urerey, < fgufeat =1 qurerey T 1uretsy w1 stem
w1 2 | famm Hifsw
x+a) x+b) =x(x+b) +alx+ b)
=x*+xb +ax + ab
=x*+ax + bx + ab
=x*+(a+ b) x+ ab
Jgl g0 4 ®u fofmw o foqwor e swm fERm 21 xp = by,

(ax + bx) = (a + b)x.

[35 |
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B (x+a)(x+b)=x2+ (a+byx+abH TH TaAMH Had 2l
HAE x+2))(x+ 1) =x>*+Q2+1x+Q2x1)=x*+3x+2.
GAAMRT (v +2) (v + 1) = 22 + 3x + 2 1 Fo g oft Fefiq ¢ g@ha 2

D «x I1 1 H1 C
N
HoOnO
1 1
] x@ 1 1G
K L
X x X

(x+1)x @ ole

A x E 1 F.1 B
——— (x+2)y=——F7—>
I @ & fob A &1 SABA (x4 2) (x + 1) Bl AT & < Bl oAl
T 3 dl ® [@fed) 31 AEKJ, KLHI 370 LGCH a7 &1 &5%el ShATER : X2,
1,1 8 EFLK, FBGL,-JKID 3T¥di &l &F%cl $HUHER x, x, x 8| 39 a& ABCD
HETRA 2+ 1+ 1 +x+x+a=x2+3x+2 Bl 30 @& 8 I BT &l (x
+2)(x+t1)=x2+3x +2

(x+a)(x+b)H oI BT 8?7 AT B4 x, 4 3N b & N g ¢
ql EaEer #& St ®;

x+a)(x+b)=x>+@+bx+ab T AT IHEd 8;
B YA : UH TEgiehl UK hid B7
SEEW 9 : (x + 6) (x + 7) B OHBA @ L ?
T : 0+ 6) (x+T) =+ (6+ Dx+ (6x7)=x>+ 13x + 42
AR 10 ¢ (x + 8) (x — 4) BT A T B7
A : GAAMST BT ST (x + a) (x + b) = x> + (a + b) x+ab
(C+8) (x—4) =2+ (8 —4w+8x (—4)=x2+4x — 32 81 U BT 2|
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IO 11 1 (2x + 5) (2x + 3) I N HIC)
TA: x+ta)(x+b)=x+(a+b)x+ab?H ATH B
(2x +5) (2x +3) = (20 + 2x(5 + 3) + (5 x 3)
= 4x + 16x + 15

IR 12 ¢ 103 x 98 T TUF%e AT HIFT; TEAHHT HT ITIT

T ¢ 103 x 98 = (100 + 3) (100 — 2)
= (100)* + ( (3) + (-2)) 100 + (3) x (-2) )
= 10000 + (1 x 100).+ (- 6)
= 10094
B T8 x =100, a=3 3 b=-2 TR (x +a) 0+ b=+ (a + b) x
+ ab 1 TR T 2

3T 13 @ (P2 5) (P? — 3) T TUAGe, FMd Hi

g (PP=5) R -3) =P+ [(5) £.(B)] PP+ (5) x (3)
= P4 —/8P¥ +/15

gaaferE
gdafet T THEAT 7 3 H Iufed e % aft o W A R
TR (x + 3) (x + 2) =% + 5x + 6 Ush HEGHH! 8| TUH x & [T B
ft qou ¢ T 3T S U IR <A1 uF THE Bl 2l $5 faftne a9 aften
2 S T e § TEre 2

e ST (@ + b2 = (a+ b) (@ + b) =ala + b) + bla + b)
=a* + ba + ba + b?
=a*+ b* + 2ab
=a> + 2ab + 1’
A9 <@l gq ¥l e fafma fem swm formm @ ab = e sETfirly e
F IR 9 TG @ F g fag Ty B

571
137 |
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D a G b C
A
a a ab al _
B
+
S
K
H F
b ab Bl
N\
A a E b B
(a+ b)

A i ABCD a1t 8%&/ (¢ + b)® o THM & F1 6 FHbHT Il I
TS (¢ + b) 8| 379 80 39 .8 & B a1 W Q@ s 21 HKGD o
HT 8TPA > & N EBFK.T T 899 2. 8| KFCG 3Tad 1 896 ab IR
AEKH 3T¥d I &9%e ab. 3HRE ABCD &1 &F%A @2+ b + ab +ab = & + b’
+ 2ab %l

3E TE BH AT A 2l (a— b)2= a2 + b? — 2ab UTd Hd Bl HN TH I
afa s fe R

D @< b) G b C
& (a— by ba-by|
S 2 a
K
H F
b b(a - b) ¥,
A (a-b) E b B
~ a Cd
ETE
38 ]
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A= &R ABCD U & 8 18 & Js ol I s o ® difeh 3T &%
@3 AT TH T Y QY B T I G A 991 81 HKGD T &ThA (a — b)Y
EBFK 9 &1 &51%e1 128; KFCG 3TId T &% b(a — b) & I AEKH I &%
b(a—b) & (B9 WFMd 8; 76 » T ¢ §1 8) HKGD 1 &9%d, EBKF, KFCG 3R
AEKH %1 8F%d ABCD ¥ & UeH W YT 81T 8; 37a: 89 9T & 2l

(@-by = & - b — bla—b) — b(a — b)

= a* - b — ba+ b* - ba + b?

a’ — 2ab + b?
T A& (@+b)(@a-b)=a—ab+Hba- b =a - b
3% fafire wdwdfienr wga 21
IERWT 14 ¢ (2x + 3y FIA i
EFI:(a+b)2=a2+2ab+bzgéwaﬂwm%|a=2x3:ﬁ'{b=3y§lﬁ|@ﬂ'f\qﬁ
FH W gH A Eale

(2x + 3y)* = (2% +2(2x) (3y) + (3y)’
= 4x}+ 12xy + 9?

AW 15 @ (4p = 3g) 1 famr s
TA: (a— bR =a — 2ab + b /TE 3@ H I B

a = 4p 3 p = 3¢ SfcwAUd H I

(4p — 39)* = (4p)* —2(4p) (3q) + (39)*

= 16p> — 24pq + 9¢°
AT 16 : (4.9 H TR H |
T : BH GOHeh il 39 GEE § IUAT HL Gehd B; WM Aol
(4.9 = (5 — 0.1 = (5% — 2(5)(0.1) + (0.1)

=25-1+0.01
=24.01

3 1 AT HY (497 TR e Id1 o Tehd &l
ISR 17 & 54 x 46 1 R HL |
T ; T gl geEiiehl ST T Hhd Bl

[ 390 |
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(@a+ b)a—b)=a — b B TR H, 9§ a = 50

N p=4 BH A BT ] 54 x 46 = (50 + 4)(50 — 4)
= (50)2 — (4)* = 2500 — 16

= 2484
HEHAT 1:
(@a+ b)a-b)=a - b TemEeR I fox g Fefa Hifve |
AYE 2.4
1. Fr=t =1 oEwe s i)
() (a + 3)a + 5) (i) 3t + D3t + 4)
(iii) (@ — 8)(a + 2) (iv) (@ 6)a - 2)
2. f=t % ow §ma i
(i) 53 x 55 (i) 102 106 (i) 34 x 36 (iv) 103 x 96

3. (x + a)x + D)x 4 ) = X+ (a + byx + bl 3H) TAHMBT HI ITAN
(x + a)(x + b) x> + (a + byxtab B OGBS M T ?
4. (a+ by = d +2ab ¥ b 1 IWAT B T & WA i)
() (a + 6)7(i)/Gx + 2y Ai) @p + 39 (iv) (@ + 5)
5. (a+ bY = a® + 2ab + b* TAGHHT ITN H T FTd iU
(i) (34) (i) (10.2) (i) (53)° (iv) (41)
6. A (a— b= &+ b*— 2ab TAHHHT &b TN F AT 1 7A B
(i) (x —6)*  (i)«(Bx — Sy’ (i) (Sa —4by*  (iv) (* + ¢*)
7. AT (@~ by = &> — 2ab + b % IWAN ¥ T o1 famwr Fifu)

(i) (49) (ii) (9.8 (iii) (59) (iv) (198
8. IfC (a +.b)a—b) = — b H IWM ¥ F=i w1 EHa T Hif|
() (x ¥ 6)x — 6) (i) 3x + 5)(3x — 5)
2x 2x
(i) 2a + 4b)(2a — 4b) (iv) (3 i 1> <§ = 1)-
9. aTftet & ITA | geu faunfa i)
(i) 55 x 45 (i) 33 x 27 (iii) 8.5 x 9.5 (iv) 102 x 98
1 40 |
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10. =1 &% TUHwe S i)
() (x - 3)x + 3 + 9) (i) 2a + 3)Q2a — 3)(4a* + 9)

i)+ 20 - D@+ 4 (i) Gm—ij@m%j(im%j
(V) (2x = y) 2x +y) (4 + %) (Vi) 2x = 3y) (2x + 3y) (4x* + 9?)
v
ferms : ®iE ot gha e fftaa goo g 2
W : Hohd (98 A 3 AR HIE oI ¢ Tohd Bl
i =tk ¢ it ufhen e, fRrs aur =wes &1 H@30|
TS : TH ST Fe o S o HTdie RS Yd, 2 2l
ue : iy s &1 AW S-AE qAT Haehed g g8l fohed TUHHS a9
w8 e B
TN : Tk & Bl UEl
Uk Ut : hael Ueh-Ug I SIS SAsTh|
fg-udt : @ wg g st =)
B-ud : = uggw i o)
T : FEUG § T hI A AR | (Il TFAGH H ATH w0h 7 AT, TIh
UE % =% % HId SIS, STfus i § ol =Ted)
[T : ¢ SS9 S5Siehi 1 FHEAT S 39 H Iufedrd = o avi gl & forg
2l
g Mew
* T 9k fEh T 3R TR, Mg Ued, eeherd, 3 9ET St
SIS wishati & 92 8 36 dficfig =it #ad 2l
® B G UGl I W WIS Tehd 8l
® T SShI I O Hd TWA, B Th - Toh UG %I 10N Hid & IR HTih 6
frm 37 = W w@ R
® TH §EUE § T % UIq HKUTHS Ued U &I &l
o 31 ooy =iveh Th TAMAT B, W & Iufyd =Tk b @l gl & foru
T BT & 39 HadiHh haEd &l

1
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FwEE 2.1
: -3
1. e . 15, = 3, 7

. - X 2 Sxy
D12+ 2z, —/— S, 7 -
0 ¢ 12 2,5,\/;,3y27x
8yz y 2x
6x + 4y, -7z, 4x’y+4’4’8yz
8x 8
2. Th U9 Txyz, 7,§x2y2
o @ 9 -4y, 47 — xz, AR 2
f?l'qa'q:x—zy+3z,4+5y—6z
JAT|G 2.2

1
1. {4x%, 4x*}, {xy 8xp}, {=8x3, 6x°, —74x*}, {gx}, {Txyz}

2. (i) 4x — 14p+ 11 | (i) 4x% — 3xy — 9?

3. (1) 9a + 6b (i) 2x%y + 5x3° + 2)°
4. (i) 10x%y — 3x)? (i) 3a + 7b
JAEE 2.3
l.
qIq 3x —6y 4x? —8xy 9x%y —11x%y?
3x Ox? —18xy 12x3 —24x%y 27x%y —33x%?
=6y —18xy 36)? —24x%*y | 48x)? —54x%y? 66x°y3
4x2 12x3 —24x%y 16x* —32x% 36xty —44x5y?
—8xy —24x%y 48xy? =32x% | 64x%? —72x%? 88x4y?
Ox2y 27x%y —54x%y? 36xty —72x%? 81x%y? —99x%y3
—11x3y? —33x%?|  66x%° —44x3y? | 88x%? —99x%y3 121 x8*
[ 4> |
1 42 |
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2. (i) 15x* + 24x (i) 45p*¢® + 3pq*
6 6
(ii) gcﬁx- §b3x (iv) —x* + 15x

3. (1) 6x3% — 10x%y — 3xH? + Sxp ;
(i) 12x%2? — 18x%* + 4xy — 6x)?
(ii)) 6x* + 4x> + 9x* + 6x

(iv) 10m® + 12m° — 3m

AE 2.4

1. (i) @® + 8a + 15 (i) 92 + 15¢ + 4

(i) a®> — 6a — 16 (iv) @®> — 8a A 12
2. () 2915 (i) 10812 (iif) 1224 (iv) 9888
3. ) x>+ (a +b +c)yx* + (@ + bc + ca) x + abc
4. (i) a* + 12a + 36 (i) 9% + 12xy + 42

(i) 4p* + 12pg + 9¢? (iv)x* + 10x* + 25
5. () 1156 (i) 104.04 (iii) | 2809 (iv) 1681
6. (i) x*? —12x+ 36 (i) 9x2 — 30xy + 25)?

(iii) 254% — 40ab + 1657 (V) p* — 20°¢ + ¢
7. (i) 2401 (i) 96.04 (iif) 3481 (iv) 39204
8 (i) x— 36 (ii) 9% — 25 (i) 40> — 160>  (iv) (% - 1)
9. (i) 2475 (ii) 851 (iii) 80.75 (iv) 9996
10 At 81 (i) 16a* — 81 (i) p* — 16

1 4 1
(iv) (1—6"’1 - ﬁ) (v) lox* — 81y*
[43 ]
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¥gdeh — 3
siftrermom, SR siv W

TH UH o N KA h o AU TG :

o IufwTfta aeqatt &1 e, sfvaromy, R @Rk qd faga (we)

o T& FRAETHA wurtafa # @1, fog, @wa@, s@Ew sARwATYd

U 2|

o Al TR & FW R =@ WU H UEr gae

o THIR @IS & Turgd aur gfads i ur=et  srfiwted
AT

Ud S HATI B M 7 3 ST ey, S8, ot W@, Bge, =sgds
3R 99 & R § 379 foha B1 3T 39 SATHATY I€g3T 6 $© Tuied ot steree
fora 2 : o 3= fafyr= wopR Brger Srwmar (Brage Y @ yost &1 Siig
A o & s Bar B1) wfere, S, e % dEed ot 991+ &
FAferehar sl Tieror g i@ | 3Yeh! I8 et 3= BT 3 daeht 2000
aul qd & gAR qEen 4 wsdentn fean om

Jra #, safafa & afeheo sga Ut B smfee weRfa 3 gued
STt faum 3 Al 1 fasemE fomam)

Mﬁ, it (Geometry) lﬁ%ﬁsaw Geo C‘HQﬁT'L’ﬂ'EI 3 metron
AT AU H §91. 81 99 A (Nile) ¢ W 9T 3T o7 Icdlfqd ofer ot &
ga et off Toed wfi=h oo gof &9 & firs st off| sforg $fve & @t 3 &
ST A 3Afehd B T ST ot &1 fawm fohan| 38H ude i
oSBT 3R F dAERIT St & 3¥ad (wat) &1 off g o,
éW(granaries)a;WﬁWTWéﬂW‘f\qﬂﬁq@"m’ﬁﬁ“a%m
IwEt ° U U R, | @ o f e Irafsn @ R, N @ a8 wmen
firerdt & o5 i & o snffa < Swm & fohas wmifa w9

39 @ qUaA AT fH o TREiRes EE g faeefed g1 a1 o, safata
1 FERAA T 2500 I @ IE 73

e
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3B JUmd: Ig 39 feran T wnfidia femmt <t ufereumr o sreva
| o1 31l I AR @i § g, W@ SR SHaa 1 dieT €en W
o) ife, s doamt 3R TIfvTaST AT i alfehen FmATRes faem w fiag
FHET FTEd I
Hertad Iod & (3.9, 640-3.9 546) F=H yuwa: 3udfa 6 afeheaan wd
FI| I8 THAT 76 T YT HI dqllches [ A g T A< AETh
Bl 3 e nfvras S| raienifEE, @i, SurE, ey, Wi, |3
@I e TN % 31T & o Satedd faeeE o faqer JvegE feEn @ gen
Tford =l difehes faeamTors famm s # g8 g @@l
gfadag 4 31 AFTEHT Sl W@EIU ST & 3 ISl o Hetaed (The
elements)wwa;aﬁ@ﬁﬁ,mm%%m%w&@%
T

FfwTe (3.9 300 & HEUH) T Ik AT A
3= Tt (YET ) % e T STaT g
3 YA TIford 6 wifrg Tk it i %
TR |

gfaere 1 Ffd G (Elements) T
Ut sfgE 6t st gvTeeTel Hid @ e
T T &Y & S T 3 Afasy & febr
6 fia wht )

RIE I B EC I £ 01 0) B R e o
AN S BI-BIE el b YR W 30
o e MR AW gieedEA
@RI’ & ST ST 31 s 3 i % 3= wmaned 8 ot 31 AneE
fea =1

3T A5 THIVT o STEET 19T T 2 FRTHTees doh i T 3TTeet 3grewu
@ 7, 8 Il 3 1 Hicdi #§ ST 2| Ffaers o Siad h 3Tfeh SHenit
T 1 I I feie 3t I e aem TE R} S 3w oft 9o R 9%
I Gl W Al H W TRl T | gfATe W1 S A 3ueied 97

hael Teh oAbl hl el Bl
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YA wRa § gay ¥ Ie e e % yem forfea smror €, feriva:
et & Fefd (39600 | 3. 9, 300) | Sfeesh smafer 3 qquverg T # foefea
T ae’ % e yamr €| yew g W sHe Safufad ac T #)
WM ! I H TRFUS o 0 6T aififer Smgfd T wgont & A=A 5
fow wrdtar sanfufa = faeem gam
Yod gE # 9, s g w9y W= g9 3, 798 a8 6 s % faet wew
Tufgwioa 2 21
ol yftrg Geumiie Wi w1 e oft garfase o weg quie @ i e T
feam
yod g 6 W faum fed @ Redae % |u Sawa % 9 i = R R B
AT H ‘n’ 1 Oed 1 FHE eRTHT el 3 3 3,088 UM HT 39N fehan
T S FAHE 1 b IAH Hed ¥ FI< HiS 7l
T % FaUe § AW, W~ 1, TUEHTE, ST, TEEER, HTehE
11, e, ficTehvs, AN 3N 3 s At o d & o 3 3EE IeeH
fea 2
AR U 31'&!11'%?[ (Axioms and' Postulates)

o @ 2 T 180 feuft @19 % hiv sl T HI01 HEd &1 Teh HIv Ao
AT U (Protractor). STINT. L 2| T off oM T WM UET BT
2 fop 9 9 30 W W W @ & a1 180 feift ugd g @ 31w <wmd B T
3T 1 IS 5 TE-Y-IT AT gSdl &7

sofefa 61 S s fomm & w9 % fosm wd gwe i it &t
T TR ] AT HT TSI 3% forg, WA W@ AR qEAA a1 SN 9E
ot groeT R HE ven) v ot afomm g e gaen s T8 o 3
P HY B i s o feht ar=rar stfaany g, 3k sefafa & fore am
TIS Bl 3% UE off 3 YA W MR T ver S ImaiR W oEt it 37k
fomr 3t fomwa: senfufa & fore s=swr &
M YT Sl AT T H WHR A & AR fagm ft aft smanet & fag
TS B 3% AMMYRUN hEd 21 YA S sfufy @ gefud R 3 stfyeny w9
o @R 4 % 3% 01185110 QT&I"I%H (geornetrical postulates) Gﬁﬁ %
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g oft oo 31w firg R & o 57 srfvreEmon SR sfmfedl W fek e ve@ R
T faam § 3o sfida oel i afere S & ue wmen 2

I & fore famg w1 § 39k IR H 3! gfg (37T B1 Weg 1 AT TH
forg <1 aftwToT ¢ Wehd 27 S 3 fopeft <t e Sa € @ o1 @ [T
ST ITART BT BOT| 37d: 3TUh! S URAYT ugi W vt e g
W@Wﬁﬁﬁwﬂﬁﬁﬁﬁ@,@,w%é@ﬂﬂj(abstract)]%ﬁl'l'{
3 W W M TH forg A @ TE FHA 2| ARG I TH O AfHE A BT
W JAfhd Hd & ql 98 Th fag & AgeE £

T T AW TH WA HI ¢@ A2l Fehdl | T8 T forg a1 fegmadi & wfasfier 2
TH WA W@ IA Bl 3 T W W@ AEE Bl 2

afeg A 3R B & W@l &I fagl € 30 W W@ 1| AB ¥ {{ud w4 2 WA
@1 % afe q AT 8l TR W T TR B 58 T U R i uw sifm
fomg &1t B oM s foum & =1 @ et 21 Al A fomor 1w sifm fomg
2 3 B 3R Th 39 fog 3, @ 9.0 foR0 &1 A @ Hfud & 8|
A @1 AN 3R IR A R B 7 fog 3Afepd hIWI A IR B o9 & oW
I @S HEd § 3 3W AB ¥ giHd w El

A |qTS T B
:\ /e 1'3
A @ e B

T TE, 3T Th O hl THATT ¢ a1 Fehd | 319301 &, THAA Th a9l 3Fa
% erl, 753 3 fomeht iE Hier TE Bt B UH wEHIC UG Th 9 TH &
vt gt 1 Gdg, T GHae % FfTea W @ wgw R
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30 Mg Yot w=nfufa & sfenfya 1g 21
I rfiremon 3T snfidta sifingfea & S @ gfwere ew @l wand @ 6 &,
T TARA @S H 101 @] HEY, TH 37 ATTERON T A 1 T |
1 srfyegmon (Axioms)

FS HifTeh U 7, Sl WA THINE 7 3R 9= Afery w9 ¥ &ferl ™
2l 32 AfYemon sed 21 37 weEl @ il 3R fomm % 3= &= # oft sy
Hd B e = FAAT w1 A gRUTE TS 39 T 3T TR
afgmon 1

T gl g% ¥ GAE @Aarel o (o, uE U gL gl |

A B

AB=CD, EF=CD
C D implies (=) AB = EF
E F

A ST 3mdes o/ @i A, B 3 O it g1 R s, '@l 3 e 2
T AT A, B § 90 &1 & Bl & 3R B, C § 0F &I § %l & 91 A
freps o "ehd B fp A 3t C W ot wuH dEm d %o Bid 27

F1 AT f5hY o Tehd B.fh A FR ¢ ¥ ff TW W= 0 %A B 3
aftremon 2

Ife gam UMl = g9F TR Sied @ 9 3% Jwd it g9H gid 3
A B C

D E F
AB=DE 3R BC=EF = AC=DF
A ST U 9T g §AM, W18 o {@rEvs o AR p €1 AB Wl BC

Sfy 3R g 1 g SIeUl A BC = EF 8 @ AC = DF.
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Tk AR A H 10 311 <fifs 3 asptt B § 10 R «ifse) 5 @« gt
2IhIE! 1 TS| 1 379 ¢@d 2 o a1 Srepil |§ Hedl ohl g gaF 27 (15
& HAM)

AAfgmRon 3

Ife gam U™l § 9 g wefl ged g @ srfafise Wt g9e g R)

H WY 42 3R o WEH @IS % 4 WS 81 50 H °/BC SR
EF P DF # @ s feprier

Ife AB = DF d BC = EF = AB.= DF.

A B ¢

D E° |F
AC = DF '3fR-BC = EF 98 ¥fdd &l & 6 AB = DE.

10 31 s 20 A 3N 10 S, TRl B o) gdiss Jpd § 8 @ %o
frertfery) a1 fit A 3B 2R 0 GHE = % Bd @4 2l

Ao 4
THU S TH G © HEd B @ o WER §WH gE1 =@1ey

3ah1 Y AE Top Afg g1 il smepla wh get | |iviferd 21, al st
d GEE BN AT

SAftemon 5
HOl, 3T W ¥ & A B

gt o 9 AR 3EE @ ener urt Femfere) e srafitse arl st S
e (gotd:) ford it & 3edq & wue 27
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IfaTe HI dia AHT gRUME §| UES I THE el IO SRS | H@eia
B T 39 WE Ieor@ fopam 7 Tob AfE @ trepfaat S o7, o, Brys sremn
a0 W8 § T 3 WeH W I T g wfife g9 81 9 9 STefaal |ue
Bt B 3Nk 9T § 3= TaHTEH Hhad 8| e g awonstt # g 91d wwe
B 8|
(1) o sonfifom sepfemi &t amnsti & &8 79 @ 2|
(2) T T APl GEL % Th WM o &Y ¥ fo@ms <d & (e, T M w «e)
3@ 9T T AT H@QU h AET § HA BT R
e 37 g1 i, BAR ITH Teh & (TehR sl AU §HT S18T) SeTetvl & fou
39 &R I TS IS 78] Tohd & AU Th Fiyst h forg o Fner g =&
T Tehd &1 AMMUROM 5 b1 H JAfYes. T GRS S IUF, L Thd Bl
IfE b, a T TH YT 8 qa, b § F&T 8| TA: T8 & Th oEft AN I et
21 (3 % oY, 19w W@ s fag feie A8l @ehd 3R %8 T @,
fog @ o€ 2, o W wg @ HIEH R)
it formg i fopell SR 1 7o & 2l 8, 8 a1 fogatl 1 qomn T8l
Tehd 2| TR EH-HE Hhd & foh Ush T@TEVES G ¥ W 8 Fifeh §H IThI
ST <l G B Fhd B
I S SIwrRa

= gRonstt % e gfaee 4 fefafaa st st @
wega T arfer &m /73 fagia fom s @eha R
aftmfga 1 : &R @ fogel #1 SieR TF WA @Eve ©iE T 3l
aftmfga 2 @ HE W WEE H WA W H I dh qG1 Thd |
aftFlfga 3. ¢ T WA W@Evs @ IH W, T AlH fog g A

@rEve % A9 i B § 99 o wed 2

aftEed 4 : @ft ek gatEw B4 8
aftmige 5 : Al wh Wt W@ @ 3 [@sti &l fdesied widt 8 df 3Hh
T URE H T QIR0 B AS QA AR H HA @, A gl
[T M dgH W IF e A gfeesfed wult fm w, i,
3 AR W HA B
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SAhAIEd 5 Floere 1 TNieg THR SANT[Ed 8| 98 36 o1d W & ol @
o w wnae &I T W g g e T fag W et 2

39 JfEd 1 T5F % €9 § g T8 X Gehd BTl 36 AN o 38
e foRam |

gfaere 7 qode o T9W 28 T4ga (FeF) & foTu haw 4 srfingfed oM
g 29 o % foTC 3¢ HETR SRS 1 ST AT GS1 1823 H S aisels
3R FrepiciTs e o (Janos Bolyai and Nicolai Lobachevsky)

WaaEy ¥ 3vd feman 6wt wEa “gfeediem tea sfafa e
TR A o fo o @hd 8| BHI AR %1 aHded 8

T THAA H, Q WA W@ AL-ql foelpat T8l Herd! el T forg W et
&1 afg 31T vk Mot hi "ag Ad &, Ay M b IS I A [@ISH § IFTET Bt
2 3R & o 9 g0 @ fageti § fuewd 2
fagrdi 1 foag wtd gHa, Ffwrg I 3 IUid QA o | IeTelvT o foe,
A 1 hear 8 7 qoeal fomgsti 9, T Tt @ w8 gt 21 W Ife
% T H WEE A AT Th-EHAA ° g fog {1 W W, 3 g T A WA
@1 S TR 2| Gl AR, T gHaed, gu-fag g oTee Wi W@ ©ig wehd
81 AAfmfed 2 weal 7, THAA H. U W@REE e M W, 38 379 Th 0 WA
@1 § f9ear & ghd 21, Afed 4 @ e 8 FEia 8| g glaee J wal
W off 3geht aftarer & €l ST fomm B foh T [@T | ST I ©F ASehiv
g &1 I
IAH HHUS T Ffehs Hetdedl 31k 3TETd a1 fe@rs et 81 fs oft, =g, fafvea
w7 ¥, Tigg R fagidl W I uget gEes 21 ' % 9l #, T
TRy a%q, SAYRem 3R ANTRd 1 T=9d T&gq i w1 T fhar
? difes Fe7 srafenfya wai @1, & g, srfwemom st sfifea & smum w
afewfyd & 9 |
ey fagia 3 e yuneft 1 srfiremonst 6 Wl B 9 fawg, W W,
FAYAT Teh THAA h! TR F4Ceries Tummeft & 3R W T Hehd 2l
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JF™HA 3.1

1. Ffrers affa o Srafeaiyd oeqd - ot 87

2. HAfERon qen RE]fEd § w1 M 87

3. Trfefaa siremonsti % T a1 @ % vE % TH-TH 3¢ Ay
(a) Ife T URET 1 @@ Wi Sed 8 @ 6 Iha ot gEE

Bd 3

(b) HYUi, 3O W § ST AT 2

4. FARTURONST I Tl B hl SR AT ] 7

5. 3 <@ & T aeft wrfass, T@net & ag==a W S &1 e e
A BT Bl T AR ThH AMERON-R AL FB @ S e fag W™
Hehd 87

[G@ qAT KT (Lines and Angles)

AOB
Q A
" T o) IR fog 0 W uh wHaw W sl TR 21 S wHa

R 3¢ A fog 0 @ Frobelt 3w fopo o W foem hifde | ot
T & 2 B R 53, o4 ¥ 0 fag % Fu fiftaa gama % =g W Bt
81 B FEIRAE o » oa U WY TH B S g GAE H AT 36 B

%1 A9 2
S0 7YY % fu g0 gearcres SRl Ames 919 I9E d 21 St W

a° H GEd L Bl 2 TR0 3 o7 Tohtor &1 ior 1 o ed €1 941 0
aﬁ?ﬁé%@(veﬁex)aﬁﬁélm oA 3 fertar O}ﬁaﬁaﬁwaﬁ /AOB
AYA pOp § A A 2
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e foww o) 3R o W fEm i)
M X, gx WHE g @ gx 3R gy a @9 21 SEH TR Y, o3

W B fog 8 @ 5y 3 o A TH & §l I W& LAOB=2XOY
FHERAY 1.

HivmTIss i TR 40 feft w1 o a9Ey |
HEHAT 2.

oa IR op @ Tl w39 i A1 i1, Sivmas i FEEd
e fafgn |
AU : 9 318 HIVHF, Thal I UEe O, off SUsK 40 &1 v T
I Thd | qRRT 3TTE @ ek fma € i R st & sl gues fow
SR & Fehet B e oft 3Tl ATy Seva. o fote i 2|
faf= PR 6 10T S, ST HRET @ 3% WO HIT SH TS IO, AR,

IR0, SAfEIH RV, FEAKII, YUTHIUT, T HIUI, HICWE HR AXRH
Eall

T WA W@ W 0’ Tog e 7 ST 0 T W@ &l @ foen 7 farfoa
HA 21 I O WA WL W B, 0 % IR 3B W A, 0 % aqfeft SR A
op I op @ TR a4 €. 1 1 Rl < St ST IO B RIUT FHEAT
8| Ffq 31T HIUHIIR ! TH SHAMId Hd & dlieh Iqehl HeATlelg O & HiHferd

&, @ o7 @Y & T 0A 3 OB % g &I 180° 1 2| fR oft 39 =
SIS TH JAfd g difs a8 el o ot @1 i 180° 9e Gkl

THRE ‘BT RO hl AU o IGHW H IRAING T Hehd 8

JmgEd & o Ifaers senfufa & 38 ek sifngfea amn mn 21 @feR U SR e
A, I TH Ad 8, AT 3= Gt THR % vl hH GRS T Hehd B

3R & Y, Sehivr o8 S g REest "9 900 & SUs @ JAUAT IATTH!
SHIVHTIS HT LT 9T F1EC| S TE 90° & HT WY I IV IRV BT &
I S BT 90° H ATIF Afehd XA IV T BT BT 8, Ik HIUT haeATdl
21 f5@ w1 &1 9" 180° ¥ sk g 360° ¥ HA 2, TgW U HEAT 2|
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I 360° h WY % HIU HI GUI w0 Hed &l T O fag ¥ oo 57 gw
fordr qot wfskrar % agET 2

B
T I KEEANI
A 0 B
90°
O\ \,
B B
TR I
I
0] A A > A

o
vol
o)

A
By
: o
TSI A 0 B
™\ A HLARITT
0

< T TR &= e @ Ife I Al 900 kT wAAT B W W BW
oA Lt op ¥ =W & 8w 5y 3R o T & dgye feul wed
& Ffe 3T ot 180° T IV ST §| S T 37 W H 5, W g
for foreg faem # &t R

=
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ST IO H AR BT FEd & Ao ITRI AMBA 180° 3| SEH dE QA B
HICIHR HIV HEAW & AfC ITRT AMMHA 90° Bl T HIV HelA IV Haad
g TG g1 0T < T Tk T 3 fomg (SRR fog) (vertex) 3TR T A=
ol gt B Ffe & W W@l 0’ # wfesfea gt § |l 9R vl s @ : afe
Tl Y 07 g o A o @ Rl e et @ st g e
oc IR op TW® TRl @ fawifsa st 8, @ 8 ~A0C, £COB, £BOD
AR ,poA TR HU U< B 2

ZAOC 3 /oD iUl % Jm (Sigh) i vRuiftng@ = (vertically opposite
angles) %8d 8l &M GV ,coB 'M.,poa W Mm@ Hor &

LB P

sfiwiferga T

EEvEl I W@ R HO qhg gag e i fem em § gy
IfFTe 3 38 T ®Y A &G &l a1, afess T3 weHl & Iafa § fifgd &
¥ g oM ol se-gm aifdfea stfimfea wea 2

frem 1 : y YEmEre fi T @9E A @ (@Es o 6l | AB
HYS |AB|E Hiud Hd E 1))
fem 2 afdc wme g mEs ga @, g &g ¢ R
Cp h TETE W AR g HAM_AB = AC + CB
fam 3 : ud® @i o fAfvaa 7w @ar 3| U WS 0T kT AT 180°
a2
4:3R gaop TR o¢ WAAE glox FN gp &A= A

@ LAOB=/AOC+ /COB
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fem 5 : afe @ ool & S =1 FW I § @ A TEEE B E, THH
faufa, afz 3 fmo wufem @, @ 7% @ % FO = AW I e
360° w1 TEATHE IO gl 2l

GEAT ¢ I A9 g0 gW e faum 3w wa 2 e s oud %
foreg foon o oa 8 a1 98 oA 21 afe 3@ gt i fewm # wad € Al
9§ FHUTHS 3l

ol : Wise Wi & foshra § %0 @ %A fehad SITEmUM S1Tavas
2, 98 T fagia &1 9 @1 1 oft, 9=l g0 s wen ¥ fEfea T8t
2, T IfFae g s qo srfremon e sifimfad B SR wEn =ed #)
rE H, YfaeTs g e ATIURnST § 3 a3 aquvErd %
i ¥ $o 3 sframend sie g

FHEFAT 3 : HOE WA @/ EiEw) 380 [ S 0 fomg 3fha Hifsm)
SR T TR o2 wlif¥ul ,goc AR ,coa, BTN T IO AT I HETE
¥ At |

ZBOC+ ZCOA. %1 FAGS 1 87 38 &= FIM Seeiehl GIEsy| Taeh! ol
Tl Tl 87

JATIhT A BT foh 37 G hIul T AT BHIM 180° B| T 31T 38 TR 3R
sfirfea ot foag X wd @17

AT : A TR IIT g3 B foh &t arfebes Iwufa it sawEehar 7
ql 379 O W HAR AR @t foror o1 forelt off @&w & o) 319 <@n o
e g UM ST IIThS HIM 180° BIaT &l R oft, 30 & 1 3=pR &
Hehd hi,~UHT Ted BlaT @ difh Hot & i o1 ANTHA 180° ¥ i 2| U1
A e @ 1 Bt 2 foh U Tt 3R SEW ueh foRtor Y e |t wured
2. 3T 31T 37 |efi TR IO A1 STl ST TTIT T8 R Hohd | SEIfTT TS
SAtyeron g fnyfed W snenfa difthes SwufE 1 ged #

HATST, T hLd & Toh BH I-B1 Y g ST 81 BH AT T [T 3N AR
@ oo o1 BT, 9'f @ §H Bid & | g6 g e @ 3 "erd i
1 AW 180° Bl &H 39 fagd % €9 § fo@d 2l
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T f4gia (proposition) Th %A & T srfiremon wd sifiremon @ srfifeal &
YR W g Fd €1 I8 F© @ "= | R w8 B 31 wen g
HA GEI IYAN A B

fogm (wem) 1:

A TNy T WA W@ g, R 0 SEW TS wE T 3l

/BOC+ /COA = 180° 3uuie foT@- & Yd 13T g9 J@d § o6 g oo
™ 2 IR g own fag = R

A O B
ICER|

T U UHATY
Th TR0 ¢, TR, W @R e gl Eer™ S ,goc I ,coA
4 2
| 1 /BOC+ ZCOA = A80°
Suufa : o 4 @ S g &6
ZBOC+ ZCOA | =[/BOA
9 /BOA W%@TE@]‘E{WWW%I

=M 3 ¥/ BOA =180°

3 B JAMYNON 1 H ST H T 8; L/BOC+LCOA IR 180° GHI Th
&S BOoA § HEH Bl

a gn Ty od @ 7 sBoC+2COA = 180°

TH: U SR 39 fHgia W ew i a8 e @ fe afg uw feor w e
W @S B A S G| HIV hT AR 180° Bl AU, & Tl hHIV HYh

Bd & |
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T wft foga & ot @nnfas gar 76 afe #i5 27 S g g @ T 39 =8
YT R Ht T B TehdT 81 BH S i W AT hall 3 R i fFsws| (I,
T R0 B [T W @ @ 98 R S B W TR HIar @ 3R Hor Sl
ATHSA 180° HUA R & S e B)

e fgia 1 foeim @ 37 “mifass w9 @ A= 3 frses 3R T seerd
31 afe gt fagia (M) # S A=A 3R R frd 2 df foam @ R A=rarl 3R
R e s B odAe HeM H faelm B ¢ Afe ga op AR g AW fetr W
2 @ ,BOC 3 /COA HAH U (FUM oC o4 I op & S H )
AR AE ,BOC+2COA=180° T A, O, B &l TH & Wl {@ R &a 8 |
Ife A, 0, B T & W W@ W id 2. d 3% a0 am@ (collincar) F&Ed 2l
3 &9 g fgia % w7 § & % 2

g 2 @ WW ST A, OB IR ¢ THIRT R W E AlE oc, oA
R op & o= H | HRAFNT ,BOC+£COA =180° I T A, O, B W@
A E, FUiq A TR @ W @ wfRm a3

o= 2
" AW T oa op AR ¢ W Ak soc AR scoa HAH IO
Sepr Sfg 180°
freepd : A, 0, B TF & W W W fR@ g 2
3UGTd : F& B B T B &l g B D O @Y M6 A, O, D w4l Th
W@ AD W & B gl
T M SWIM S /DOC+ LCOA=180° W fear g3 Tk
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/ZBOC+ ZCOA =180°

ARNYIROT 1 3T HE R, Fwhy fFeherar 2

/DOC + ZCOA = ZBOC + ZCOA
31 YU 3 IWM HH W ,DOC=/BOC & FAEAME &l o2 3R o0 &
i # 21 (smfa 2 # faw) st op, op 3R ¢ b = H R (sl 3 H
icLy

g ded #, fram 4 @ & ww B ?

Z/BOC = 2DOC = /DOB + ZBOC

3N sAfemen 3 giud s @ 6. poBZo 8 | gt Hed H, M 4 & wr
grar & 6

/DOC = /BOC = /BOD + ZDOC

3ﬂI3Tﬁ-‘|€I'R'U1T3¥ﬂ\?IHEF{?ﬂ§ ZBOD=0 QW,@@I@W%W
HT B I 2

fram 5 M &6 8, 7 T o w=d 2 5 g o op @i B E
Fufa B 3 O, W& W@ 5 W @ 2l

3 WE A 0,B @ %

go : fagia 1 3 g 2 W @ it wed @ S WeR U g
o foetm 8| sofafa 4, Jfg 1% U7 T 8 1 %3 aR 3HH! faony off ae
Bl R oft, 9 9= w9 @ 91 7€ B| UH HUA & "ohd © S 9 & W
% faeim e, 7 8 wea 81 AT A d@d ¢ T Uk wweTg B,
TGETE BT 2 Tiihd Ueh HHigag S @wemg T Bl 2|

IR 1 : 9RE B A ,COA - /BOC = 50° C
39 IV ! UdT THIEY|

T faga 1 @ g0 99a € T

Z/BOC + Z/COA =180° . .
O 7z
3R T & LCOA- /BOC = 50° A B
T GEYl B ST W 2/COA =230° o= 4
o
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(i =t arfireron swm fomen B) @' gfud w1 8 75 scoa 1150 (A
SfrEmT T8t TEvE §) I
Z/BOC =180°— ZCOA

—180°-115°

—65°
IS 2 : UINE 3hfa H, Afe LAOB, ZBOC, £COD 1 : 2 : 3 I @R
IR P T WA @R, ;e Hol 6 A A i

NG
T : fagia | &1 SR % ¥ ¥ | el & 6
ZAOB + ZBOC + ZCOD =180° B
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H B
2. Og SHIR TOHEUSA

39 Tfsear Heg9/ 3 SN | IO S R

TOT 1 : ¢ S o UG Bl WEl § Faferd Hife dmfer seie g |
Th HH UG §

TWOT 2 : YA THE o1 UNEUST I,

WO 3 : IAF Ggg § A gE PR e

WS:W@?Wax—bx-i-ay—by

T : BH 3 UUE 3 @ S B
(ax = bx) +'(ay'— by)= (a — b)x + (a — b)y

=@-b x+y

1 D Tq gl g fop foawor frem w1 fomdia w0 swdim fomen 27 &9

3 30 a@ Wt "R B

ax — bx + ay — by = (ax + ay) — (bx + by)
=alx +y) b (x +y)
=(a—-b) x+y
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3&1 6 : TUMEUS UG HINTT 33 — 3)2 + 2y — 6 — xp — 3x
B : g8l ot g0 =9 % Udl Bl TRl & Hafeud R UEEUE w3
=0’-3)+ 2y -6 — (-3
=y -3)+20-3)-x(y - 3)
=P 2-9 (- 3)
3. @ M % IR H UEEIH
o aer A g0 IMd 8 6 ®ft 0, 6 & TTT (0 + b) (@ - b) = @2 =1
SE f¥ gU =Sk 1 QA T h AR H @ ¥ g9 wadl § EEred
T Bl
3R 7 : TOHEUET ISR 3647 — 490
T oe ST 3602 = (6a) 3R 490 = (7h)
30 W W W EH I ®
36a> — 49 = (62— (TbY* = (6a + Tb)\(6a — 7b)
x> 9
ITET 8/: TUHEUE T HIFAY 3%

A : JE - gd forg wehd € 6

SR RO b

IO 9 : eI 1A HINT (4.5 — (1.5)

g : TH Aol @
457 - (1.5P2=@45+15-45-15=6x3=18
I 4.1
I, TOEUE @ I
(i) x* + xy (i) 3x* — 6x
(iii) (1.6)a®> — (0.8)a (iv) 5 — 10m — 20n
2. TURETE HifS
(i) @* + ax + ab + bx (i) 3ac + Tbc — 3ad — 7bd
(i) 3xy — 6zy — 3xt + 6zt (iv) y* = 3 + 2y — 6 — xy + 3x.
[7¢ |
78 |
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3. UHEUE A HINT :

9
() 4a> — 25 i) = - ¢

(i) ¥ — »* (iv) [7%) —(2%) (iv) (5a — 2b) — (2a — by

v) (0.77 — (0.3)?
frafeat &1 UAEUET ®EAT (Factorisation of trinomials)

Th T4 B (x + @) IR (x + b). N8 fgufedi oo s den @

(x+a) (x+b)=x>+(a+ bx +ab

79 fauwdia oo o off 7 5 TFABl 2 + (@ + b+ ab TWEI & FUS
I TUFEUST R Thd 8 dlfeh g8 UTE Bl x> + (¢ +b) x +ab = (x + a) (x + b)
W G B sEEd o fed T d)

mx2+mx+na5“€qﬁam§,aﬁm,n@ﬁ@ﬁ%|

B m = (a/+ b) U n = a x b I A M AMLY ATk e IS i
UGS Bl Tkl

30 gl HEITH! % $© UIHH IR BT B 3% g6 F& ST Hd B
T TS BT AMEA IR IOFEA qft O GATCHS B Tehal a0 gl
TIcH BId 2l

3Gt 7Y I8 56 I 0 + b 3 ab TS & A T ¢ 3 p ofY B| 38T

foem N AT B 39 WE 6 3 5 &FIcHD &, 5=3+2 3 6 =3 x2; qI 3
3R 2 "eTeH 2|

T G HT AN FH/UMHS 3R 6T UAGA GHTcHs adt dm
& Ghdl W& SHl HEAT HUTHS BId &

THAE a + b RUNHS 3N ab GATHS afl 9 B Fehal 8 5@ o 3R b
RUTHS Bd &l I BH 21 3 10 T=@W < TS F, 9 W SHd B
~10 = (-7) + (=3) 3R 21 = (-7) (-3).
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B9 7 I 89 oHl 7 3N -7 % WHEed Hed &l 3H W&, Th i ¢ i
I T Y 3IGh WHIT Bl o) = ¢ 8 TG A & A 0> 0; |a| = —a IR
a<o0; 3ﬁ?|a|=03ﬁa=0ﬁl

o VT : 8<-6 WA -8|=8>6=|-6|
T HEAST HT ANHA EETHS MR IR PHGA HUMHS adl TE
grar B afg dEmat § U oMIHs ST U RIS 2, TR GHTHS
H WHHeT T HUTHS T b WH Ued d s B

3T 1Y BT fF o + b TFTHS AR gb /O a¥ft AT Bian Afg.a, b,

T H Th YIS IR GET UMCHS BT 7; AG o G M b HBUMHS @
T |o| > |b| F(E @ FOMHS 8 MW h GATCHS & a9 [a] < [b|

ICEWO : A g+ b=7 M gb = —18 A a /= 9 AT h = 2 YA
a=—23:ﬁ'{b=9.

T IS W1 AE H/UNHS 3T 3T UG HKMHS aft 91 gral
Ife TIA H ThH S HR GEU RUTHS B, IR UATHS HEA
H TH T, WS T § HA R

30 WG a + b HBITHS & AN gb HIMHS a¥fl T BT AT ¢, b H TH
YA R GE IS g G o IR B IR b HUTHS 8, a9
la| < |b|; Al o HOTMHD S b GHTCHS BIAT B I |a| > |b| 3T & faQ
a+b=-12 3 gp =28 89 foT@ Thd 8 a =2 3 b = 14 HYA
a=-14 3 b= 2.

g 4 A GeIIst & @aE 39 off Icoi@ Tl foRe 81 e yuries, ufi
TEIT YT aTArereh & 8 Tohd 8, S8 SR T 80 3TTeil hafl § A
TR |

I 10 :, PHEUST HINE 6x2 + 11x + 3.

A : g9 Jg foued w #1 3R Ty ¥ =aftyd & 61 e ¥ 3T
H B
6x* + 1lx+3 =6x2 + 9x+2x + 3 = (6x> + 9x) + (2x + 3)

=3x2x + 3) + 1(2x + 3)
=0Bx+1)(2x +3)

[ <0 |
1 80 |
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39 fqued 9% e W GHEN Sl 8| AW ST 89 62 + 11x + 3
= (ax + b) (cx + d) T PHEET & qA™ H 2| R FE | g T B

6x* + 1lx +3 = acx®* + (ad + bc)x + bd

fafe= = & 9 1 qA HEH W

ac = 6, ad + bc = 11, bd = 3

THAE acbd = 18 AT (ad)(bc) = 18 3N ad + be = 11 G TN TH 2
et A 18 7 3R AMHA 11 &l 39 g Fol o & 7 ad =9, ¢
=2 YA ad =2, bc =9 IEME ¥ for@d ®I

6x* + 1lx +3 = acx>+ (ad + be) x + bd = 6x* + 9x + 2x:+ 3

S gw 3 fames w1 3w fam B

& AT (ab, be) F TTT g0 gt i, S STET TR &

ad =2, bc=9 & W BT 3

6x* + 1lx +3 = (662 + 2x) + (9x + 3) = 2x(3x + 1) + 3(3x + 1)

=@2x+3)G3x+ 1

frem : afe sma x2 # px + ¢ T8 POt W UEEUE S O @, SRt
a AN b VA HEASM [T HET AN AWR a . b =g AR a+ b =p @
X +px+qg=(x+a)(atbh
A 4 @ fea g - IUETeT Hd §HE §W U1d 2 o §gual Wl
% I Th b ¢ 9gICl % IR % T H Fd Hd ol I8 W
2 % WgUE wHe AWH WEES Bl AlG I WgIEl HI foEed HT A
g @ AW 39 Wl fh I8 9gudl THeU A w1 IEH fau™
AT 2|

ISR 11 : PEEvET HINR 22— 9x + 20

BT 2.8 & TEAT ¢ 3 b TG BT AIMh a x b=1x 20 (x* UG T TETH
3R FRRIF) 3o+ b =9 IGT PHGA TAHS § N TS KIS 2|

31q: QHI SR BT =118u|
T EHa=-53R h=—4 04 § T B Thd & 30 W&
X2 —9x + 20 = (x* — 5x) + (4x + 20) = x(x — 5) 4(x — 5)
=@ —-4) x-5)

[81 |
L2 1
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TH M BUSG w1 IUEEvE
T oIS =Foih S o2 + 2ab + b2 FAYST @ — 2ab + B ¥ TTQ Tehd & 39
=t Pt wEd dl

IR ¢ 2+ 2 + 1. Th T Bl gl W Gl w oeEve &
@+ 2ab + b= (a + b) (a + b) AU a* — 2ab + b= (a — b) (a — b)HT IFTAM
H Thd gl

3SR 12 : PHEEUET HINT 4x2 + 12xp + 92

& : g9 qEd € 6

42+ 12xy + 97 = (2x) +2@0)(3Y) + Gy = (2x + 3R

3AAE b ¢ THM TUHEEUE (2x + 3y) 3T (2x #3y)

AT 13 ¢ 22— 6xy + 362 F IE a1 Ul R

& : B4 A @ I

xP—6xy # 36y = (x)> — (x)(6y) + (6)

I AR TH AG & T T AB 2 6xy + 362 T UG A&l B

WA - 1 2 + 1 T PEEST HET G99 37 fohew &9 @, w0
o TN [ L Teha, g fEET 9 3 7 IR e prwa 187

AE 4.2

l.ﬁﬁﬁpqi}:ﬁ'{p-anﬁﬁaTW%lpﬁ?ﬂ qaﬁmaﬁﬁﬁ|

() pg =18 3 p + ¢ = 11 (i) pg=323Mp+qg=-12
(i) pg= 243 p+qg=2 (iv) pg=-12 3 p+q=-11
V).pg=—63IAp + q=-5 (Vi) pg=-44 3 p + g = 7.
2. s fofau-

(i) x>+ 6x + 8 (i) x> +4x + 3
(iii) @ + Sa + 6 (iv) @ — 5a + 6 (v) @® — 3a — 40
(vi) X —x = 72

T

[ 82 ]
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3. UHEET HIf
(i) X + 14x + 49 (i) 4 + 4x + 1 (iii) > — 10a + 25
(iv) 22 — 24x + 72 (V) p> —24p + 144 (v) x* — 122% + 36x

vegrEe

T UEEUE G YAl AUh Rk Q¥ TH W, TS Fsteh, H
THETE Syt S Bl gH B

TUHEUEA : Th ST oIoh I Th § (e S5ehi o PHG-h &9
7 forga i wfsean
wH W@ -

o TUNGEUET UishAT TUICTeY TS H <l Wik HT I Bl

o TYRIG ®Y ¥ THE % FARYd Hih 3TN 3Gk UGl H G T gH Sfhi
I TUFEUST L Thd gl

I
FEE 41
Lo@x G+ 1) G)3x (x—2) (i) (08).a 2a — 1)  (iv) 5(1 — 2m — 4n)

2. (i) (a+x) (a+b), (i) Ga+Tby(c—d), (iii) (v22) By-30), (iv) (»-3) (P+2x)

3 3
3. (1) a +5) 2a =5) (i) <x + 4_1) ( - 4_1)
.. 1222
(i) (o + ) +y) x - ) (iv) =5
(v) 0.4 (vi) (7a — 3b) (3a — b)
JAT|E 4.2
I Dp=94g9g=2 (i) p=-8,q=-4 (i) p=6,g=-4
(iv) p=12, g =-1 V)yp=-6,g=1 i) p=-11,qg=4
2. ) x+4) x+2) i)x+3)x+1) ()@ + 3) (a + 2)
(iv) @-3)(@a-2) (V-8 (a+)5) (vi)(x = 9) (x + 8)
3. ODEx+7Hx+7 i)2x + 1) 2x + 1) (iii)a = 5) (a-5)
V) 2x—-6)(x—6) Wp-12) (p-12) (vi)x (x — 6) (x — 6)
|| 83 ||
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YZeh — 5
[ T, A, g1 AR TAA

TH UHh & NAIA dI¢ &k HU HrEN

o oYUl 3R Tl Gl o FA & AR A

o T W F THE ©IH H HF-D & 37k AW & |

o TT AW &I 3 3R 4 | AN ¢ R AT AN i & €7

o TafW= W el qul aff T Bl

o U ¥ AT UL N ok FAHSA AT FHA & I

o U1 B9 3R YU U F UTA
AT

1, 4, 9, 16, 25 Seie GEA3 w1 Flew Hifw) w0 H9 32 wEEEd
27 3CEW 4 22 x2, 25 =5 x5 U <@ & IIh T ¢ T &I
T UFGA 2| T WE T @A 88 = 2 x2 x2, 64 = 4 x4 x4 YIh
T dF A9 SIS B PEEA 8l 3 Gesi & fafite am 21 38 rem
T g9 Ut geEsh % TO UEH S1EEE 1| g9 et fauwla wfear oft stemEm
HAN, & Uk TEAT g A1 <A GUE G HT PHGA & d I g 3 T
T T H Tehd B 7

w =l (perfect square)

LM eI NI
cee %000
e °% 0600 00
LI ) I
©o oo
0o 00
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e for o ferat fafeat &7

AT 3= 1,4,9,16 Tg=

aH it ABCD 10 31S @aTS Jok T o 8| 38 o sl HHT<R @
gt BIC §HIE 6 o1l H TaWTRo hIT| (TRel ot S8 SRIR 2) &1 319§
100 =it g€ # M Tehd 217

D C

— R WA L g oo

B
A)l72 3 4 p5/6 7 8 9 10

HREAT 1 : 8, 12, 15 THIE & TS oA Ol ST FHI HRIBATT hl Cralls
3 3es i arfershl TR

R ET 1 =1x1,4=2x2,9=3x3,16 =4 x4, 100 = 10x10.
ﬂﬁa@‘{”ﬁ%ﬁ‘i b=axa_ﬁﬁb3ﬁﬁ'@ﬁaﬂ?ﬁ§|

3@ 1, 4, 9, 16; 100 |t @qui a7 21 0 = 0 x 0 B & ‘0" = ot ol o
HHd Bl If¢ 4 ThHQUTH 8, BH axa Bl 52 O gHd Hd B (30 a & o
8, YA g W UEd 2) 3W W@ 36 = 6%, 81= 92

3d: Th P m’ % FG F FaT 2, T& m TH I 2

IET, Teh 3T o0 W &AM ¢ Tohd &l QW 4 = 2 x 2 3R 4 = (=2) x (-2)
Bl I8 W g THE Ui 8 W 3 HOMcHS 2| IS DI MW hl §1d & 2|
Ig U7 A TEAT WIS | U B foh g1 SHuITeHS qUIfehl ST TUM%E BT Bl
8l 3a: fpehl off wmfoss WM m % fC m’ = mxm=(-m)x(-m)
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E g @ H MU A BT gl A m Eiwifesh §@A gt 8 i
m’ =mxm ¥ Tk wnfess TE Bt ] (3R fEm)| 3a: m® e R
e m=0 g @ m° =0x0=0 I 1, S T&I & d@ m’>=-n B
T @@ n % o gafae m® =(-n)x(-n)=n" S T T T 2

@: WYYl T W @ 0 gl B NUAA TAWHS YU g1 T
Ig HUMHSG HW Ag T Aehall

B C@l foh 1 = 12 3R 4 = 22 |q9i o gl 1 2 3R 3'&hLaf @ smm
quiiehl o UM% % &9 H foT@ Tehd. &7

39 1 gfig et @ o I8 JWa & 2| T B $W MOM ol gfee | Hi=
Thd 27 WM Wit m 3R n' g wWwifas @@ @ dif m<n B @ I9
smEH & T g # fe m’ <nf(wie)

gfe wuft 2w &Pt @t @, 2=n’. & @i @en % foau g
BT =R

W 1<2<4 gud grar f6 =17 <n® <2’ =4 368 @ a1 2 f&
l<n<2 (i7?)

I AE ‘n’ FE 1 I 2 % &g hI wrfass TEa 8| W g9 I @ TR
T ‘K’ Ueh Wi AT ®/ Al k ST 3Heh U k+ | o S= ohls TIHIfaeh &A1
EE
3@ | 3 o & i ¥ w5 wrlas @@ T& 21 I Jg fwd freperan @
o5 2 oot =t 7t R 3eft atg 39 3 % foTu HWer ¢ wehd B | 38 s off arfesh

gl n q fou fag o ged @ arfe m2<n<(m+1)2 et =t T A
HehdT), 39 dlfeTeh] W &H &g

a 12|38 |-7|-12| 20 |-15
a’ |1]|4]9]64|49 | 144 | 400 | 225

T AT AH S B T 2, 8, -12, 20 % O TW WA ® IRV 1,3,-7, -15 H
it fowm T &) sea wo sk feerar 27
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FOH 1 : WH YUk 1 it @H wEw g R fowm wem @ wi fowm
a2

gfe ¢ W9 wenm 8 d m=2n A ik n F few 3R
m? = (2n) x (2n) =4n? S 99 yUrss gl I m foww g @ m=2k+1
foreft quifes k o fotu, e

m’ =(2k +1)(2k +1)

= [ (2k+1)x 2k |+(2k +1)x1
= (2K ) x(2k) + (1% 2k ) + (2k x1) +(1xd)
=4k2 + 2k £ 2k A 1 = 4k* +4k +1

I fop fom gurfes 2
arferehl & oM g |9l & W erH i

2422137 14 |52 | 627218 |9%]10°
11419 |16|25}36|49.|64|81|100

HUA 2 : Uk WYYl A % THEE WH W 0,1,4,5,6, 9 U A F| Al
foreht g & T WE W O2,3,7,8 @ @ @@ @yul ot A€ g
Aika : ol @@ & gwE WE W 0,1,4,5,6 @l 9 @ oal
g WUl @ g s T 2

T AT % STHER, € HE&dl YUl o B % T STavE € 3uh IS
WM W 0,1,4,5,6 UG 9 BT Il 81 W] J& T I ¢ TEAT, Ui ot
B o1 fuifa 7 X wedt 31 a8 gl o ugEe # wEEe R

A 5.1
1. = %t o1 il w9 1@ sgea Hifsw)
(i) 4 w1 o 16 2 (ii) 8 =T ot 64 B
(iii) 15 1 a1 225 2|
(7]
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2. T gwenstt # gyet et ugeng)
1, 2, 3, 8, 36, 49, 65, 67, 71, 81, 169, 125, 900, 100,
1000, 100000

3.1 3 500 & «ff= & oft goot & ferfau)

4, 99 Ipiad TS Hi ffge H$ 3hE wWH W 0, 1,4,5,6,9 §. 8
WIS Th I B, W I B HYO o A

5.100 & 400 % = & "yl o foafew fs s M W05, 1,4,5,6
JYS 9 T Hg IFh B

quui i ° wE| $B aed

YU S % FS Gl AUEH gl S BH A8 AHAT BT

(a) Ty arferert efguy
a 4 10 20 25 100 300 1000
a’ 16 | 100 | 400 | 625 | 10000| 90000 | 1000000

a’ Faadsda=|lo [2 f2 |o |4 4 6

3y Fgl wn i e g7 o % I H e Y@ Te gHe
oq HE Bt 31 (0 W W W 9% |w 2) ol § el I od e d IR
A H M B gl T AUFH HUH H TG H TG Hobl ?

TUT 3 ; O Uk WAk A W k YA B A 3Tk i W 2k I R

Ifc Th H&A H fqww @ 8 @ 98 0 6 9 Gha1l 98 §Yu A %
TEEHd H HER Bl gl
(b)urd dTfetehl W &H G |

d
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a a’ a2 &l 3 ¥ "W a? &l 4 § WA A
A W U I W U 99

1 1 1 1

2 4 1 0

3 9 0 1

5 25 1 1

8 64 1 0

11 121 1 1

-6 36 0 0

R 3T E ¢d & T TY01 a7 %1 3 & WIT & W II§ 1 0 a1
B 21 3 e TS Ty S W 4 W 9E e W UY 0/ U 1 T Rl
foreft oft T &1 3/ 9T S W AT 0,1 32 TEAT g W] Uh a1 HI 3 H

WIT & W 0 Y1 W@l | W 2 T8l W@l &1 T WE TH G&A W 4 9
9T &1 W I 0;1,2 YT 3 TEal gl 3 TH YO o Bl 4 T 9ET S W AW

0 3AYaT 1 Barg sl 2 3R 3 7&h

T 4 : WYUl S W 3 [/ WRT I W AN 0 A 1 weran g w2 A
TQUT Rt 4 ¥ AW o W0 U 1 o g e 2 s 3

3 W OIS | Th TYO @ 8§ F W ¢ W 0, 1 3 4
s=ar &t 2,03, 5, 6, 7 F&l
TR 2 ) IR SHATTA WHTIh T&AT eI T 3R 3T UH®A F1d i)
3H TUEHA bl 1 ¥ S| [ BT @ g8 Tl @ gl 3EH g IR SHATTA
AU qUITeh oieht SUUR ShH SIEUST|

T OR pATTd Tt # 0 off wifder & @t ekt fferer @ g e
I
(1 X2 x3x4)+1=24+1=25=5"
(8 x9 x 10 x11) + 1 = 7920 + 1 = 7921 = 89?
FHYF 5 : TR THANT YUl o UHEA Hl 1 Sigd ® Ui uRoma U

wqui & grm|
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(c) T fafga wwoft ufeu
1

1 = 1%,
1 +3 4 =27,
1 +3+5 9 = 3%,
1 +3+5+7 =16 = 4%
1 +3+5+7+9 =25=75%,
e Sig w1 3rTell fown we e 39 WshH 3T S@IET| 3ATIsh! Eul
i g B SN erEgds e $@ W $o 3 9 T B 1 WY wR
fovn wEnett w1 g 47 3| wm 5 fawm g@nst e 5T R W vuH 8
3R 12 "EAISAT &% g I A Wau|
F1, B9 38 T HUT & B H Tkt HL Fohll ?
HAA 6 : 9UH ‘n’ Towm wEEedt o Wi 42 AN W@ 4 TrTeeh S 2l
HEHAY 3
11, 101, '1001, 10001 wEM3fi & e wa Hifwe| W& & I I
FW AW wfgd| 9 AT HE T @ B
e & fotw @ 1124=_121,
1012 = 10201,
10012 1002001,
gefe | 39 C@N Yo o hl e TE 2 R 3R 2 % qd Y 3w
TET % 9 I TR A 2 3R 3d it w@m 1 Bl 2’ F gEl uEl & YA
SO SN H IUd I h UK Bl 3TA: 39 HUA P UM forEd B

HF 7 : WA iU N = 1000..01, @& g R K I R (SSEw
k=63 @ 3MUhl N= 10000001 g g <fig & 6 I Bl @ N =
1000...02000...01 Wl 2 & I uwed H & YA FA 2
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(a) F= g <
o o o o
o
oo o o o o o
© o0 o o0 o ©o o o
© o0 06 o 0 0 o
© 0.0 o ¢

30 TR % T A H B yEel ufE § fd o, gw A2, de
§ 3 ganfe Fa A TEd ISy 39 YeR-eEreNd fiRe whRue % e
7 afer B g vk Be $ fefl s fma s, (ue Tl =8t 3=
frw %) A8 1, 3, 6, 10, 15, 21, 28, 36 3N \ FaT 3T THHT BRI
IHd §7 3 TES Sl Trenmia @' wEd 21 38 IR % G @en
& A fgu) n 3 Benfim g A n dfdEEr it n WY R W AE 8 A
Prfig g 4 1+ 2+3+44+5+6+7+ 8 =36

W TR $O HNiE T 3

1, 3, 6, 10,715, 21, 28, 36, 45, 55, 66, 78, 91. .. SHUTIA <
Frepef T e 3t 3T InTee Aem hifs|

3CTEL 1004+ 15 = 25 = 5°
28 +-36 = 64 = §°
55 + 66 =121 =11°
36 + 45 = 81 = 9°

g T e TEmnstt w e T aqul o gl F|F 3 TH 91 TR
I B & HINY 28 T7 Hrdel Brepivia G 21 36 I8 SAedl BHehivig e
B AT SIS 82 7 I WE 66 Ig WNES! HIhviy GEA @ 3R 78 I§ aRgdl @

qr IR A 144 = 122 3| $B 3 JHT W 39 07 H1 AT hif)
FH 8 : n d A (n+ 1) 3 Brenvim demst =@ A (n + 1) A R
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23% = 12167 3 24° = 13824

3d: 312345, 23 3 24 & &= AT AU IR A IR 13824 H 70

12167, 12345 % 31ty @fid B1 310 3/12345 & o9 % 3Tcd=<1 GHIT ToTish
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AT 5.7

1. ST UHEUE G S-S FTq. ehiT

(i) 1728 (i) 3375 (ii) 10648  (iv) 46656 (v) 15625
2. fl o o 3RS TYM. % 3Tk SEeRt aYT/SieeE f9UH ¥ T shifg|
(i) 91125 (i) 166375 (iii) 704969
3. frfetiga g & oget % @iy quries STa shifvg|
(i) 331776 (i) 46656 (iii) 373248
gt
Tqui = . Th YU W & HWH YUl T %R gl
Pl s ¢ @nnfas st % aea o 6 Geefy e
FEd 2l
e 2T HEA ‘o, T8 | hI WA HEA B A b = 52
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RICHCH
® 3 TM quTiehl ST UMkl 9T 1 B 3N o HHM QUi T RGBT 2
® TH YUl I FHIM KM Ugd &iar & (0 +ft &t )
Tsh WYY T KU & dohdl 8, I § AU FYGT TATHS & Tehal 2|
® Tk TATCHS TEAT fe I W 35k ¢ A Bd & — T 3T KUMHS
T T T H TH & A B 2
® TH TEAT S o AE B U & YU A b ST TR oAl L Fohd) B
® T TAIHS ik S Foh o & 8,38 W & AN 9 o s W@ T &
I

AE 5.1
1. (i) 4* = 16 (ii) 8*=64 (iii) 15* = 225

2.1, 36 = 6% 49 = 7%, 81 = 9% ,169.= 13% 625 = 25°, 900=30°,
100=10?

3.1, 4, 9, 16, 25,36, 49, 64,.81; 100, 121, 144, 169, 196, 225,
256, 289, 324, 361, 400, 441, 484.

4. 3™ 200, 201, 204, 205, 206, 209 & Hehd &1 34 | H iz ff o &
2 IR 9 196 = 1428225 = 15* & o= f&E 2

5. 100, 121, 144, 169,196, 225, 256, 289, 324, 361, 400.
AT 5.2

1.1 +3+ 5+ ..+ 51 =26"=676
2.144=12°=1+3+5+ ...+ 23
3. 105.3TR 120 371 IMTHA 225 = 15°
4, 0, 1 31y 4.
A 5.3
1. (i) 961 (ii) 5184 (iii) 1369 (iv) 27556
2. (i) 7225 (ii) 13225 (iii) 27225 3. 2155024
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1. (i) 14 (i) 16 (iii) 102 (iv) 34 (v) 115
2. (i) 16 (i) 37 (iii) 81 (iv) 10 (v) 4 (vi) 247
3. 56 @
4. (i) 7 (i) 2 Gii) 5 (iv) 2
5. (i) 16 (i) 16 (iii) 729 (iv) 676

HAEE 5.5
1. (i) 15 (i) 24 Gii) 27 (iv) 29 (v) 42
2. 127 #Hiew 3.5
FAEE 5.6
2 3 4 -5 6 8 -9

2°=8 (3 =27 [4=64 | (-5) =125 | 67=216 8 =512 | (-9) =-729

253 79 22146 /8110
1 2711251343729 | 8 | 64 216|512 | 1000
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4.1 3R 500 &g 7 Y0 B9 8 W W 64 HE GYY T @
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. Y% 36 et T fohelt & 37d umn S R)

3ra: i3 ot a5 fropd o T "eha 76 <a " ww R (3ifiw 3 TEe)
A 5.7

1. (i) 12 (i) 15 (iii) 22 (iv) 36 (v) 25

2. (i) 45 (ii) 55 (iii) 89
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[©) NNV,

3. (i) 69 (ii) 36 (iii) 72

[0= 1
1 108 |

Downloaded from https:// www.studiestoday.com



Downloaded from https:// www.studiestoday.com

Ueh — 6
EC SR
TH UCH & AT & A AU @
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o YT TE U & JER R fafw= Fys & weri # afida s
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<@t ? gfaerdem snfufa, s stflamen % snum W wen e W@iet % " gt
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8 9l 3 FAfam fog w A fierd &1 wE Was bl w1 B whEd € 1 A,
B 31 C I st ABC & i (vertices) ®ad &1 @RGUS ABBC 3N Ca
! el 1 YT HEd & 3N B [BAC, |[ABC 3T |ACB Fs ABC & 0T
#8d & | (ABC % 3IT=:hI0T)
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B
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drem fit a9

1. g9ad ST el et T PR e sfew Bige a8 g1 had
W@rEvel ¥\ U By awan 2|

2. ISR HATS o TEACT 3THfd BT St BT 8 Sfeeh HiaTE Tl Bl |

Tl I ATT3T % qUT BV b YR W o Hd @

YSTSH o STUR T SR (i) THa1g BT (i) Tigang B (i) formemg
EEC
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: T Bqe e 8 @ 9o oo § e gt 7 sE
Tufgeg s %&d 81 9w S ABC # AB = BC
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waehiot Bet ¢ T Pie e T i 90° % SUSt 7 38 @E B
9 %8d 81 T B ABC H |[ABC=90°

A

gL C

aferens o B ¢ Afg e Bge J T *w 90° @ Iifue 7, 38 i
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AYH 6.1
1. Gﬁ?ﬁh‘( %ﬁ'\@Q :
) (A) FHSTE e
1
(i) \ (B) I B
(il /\ (ORSSCEALRERE]
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|1H2+3=180°[4+[5H6=180°

[L+[2+(3 +l4+5+[6=360°

iR B |3 3R |5 WG B0 B AR A TH WA @1 S 8
3d:

|3+]5=180°

3 @

[1+[2+|4+[6=360°—([3+]5)=360°—180°=180°

AfeeT @ ae@ B fF 244 B ¥ & o wesAr o 27

3 Bige & i Sl B A 180° B

IR IYURT | & 9P 2| UgS, W H, UH AT gRI &l W 39 Frags
% IO MY | YR AT @ Wiget, Bigst & di9 o w1 Aehe 180°
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T T Bt i g wsehion s # fawfaa e § 3 e e
W uform g B % foe swim et 2

FT g Th AT e & 3w 3 grr snur % fa s W wiee
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s umed W 2l

EXE] I
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A
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T (T 1 W)
st ABC, B 910 ® %

|A+[B +|C=180°
= |A+105°+ 50° =180°
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= |A =180°—155°=25°
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¥ TE |A=25°
IS 2 ¢ T4 IR H, @t HUi w F R
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5x
B 3x 2x ¢
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AT 5x + 3% + 2x = 180°
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_ —18°
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2 W 9T AT W gH T @

L1+|g=900—% ............... (2)
()3 ) & & 9= 2

900—%+ BOC =180°

3/@: |BOC =90°+ % BAC
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(1) Byst ABC® afg |A=55° 3 |[B=40° & @ |C T ifu]
(2) e ShIvT B AH 3171 €1 IV § & TH 35° B A DIV 1 HIC|
(3) U Tufgarg Brgst § &1 SfiveRm 500 & = W wa hif)
(4) T B & HI0 1223 | 21 I Hon H i@ Hif)
(5) Ge B3S ABC ¥ x' 1 Hod W@ hIfC auT Bigs % shivn i uw
CGlIE

(6) T 39T % 0T P S AT % AR TSN A H =arerd fd
T 2| FiE SHATTE @l ShIUT T AT 10° &1, ol Al I Fd kit
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@em: [PRS=|QPR +|PQR
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h YA <1
|QPR +|PQR +|PRQ =180°; ITET BT YW
[PRQ+|PRS =180°; W v hwi
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30 @E Iyt ol gt Rl
IS 4
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B ¢
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FAd: |[A=55°
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T Q R
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3d: |Qi(+135°=180O

srer |QPR =180°-1359=45°

e 1 9T ®vr IEE) IW HH W

|PQT =|QPR +|PRQ 3&&110° = 45°+|PRQ

[PRQ' % fT &a1 &1 ® [PRQ=110°-45°=65°

SR 6 :

s ABC & BC I g1 feemati # sern mn 71 fag e 39 @@ o
SR B SIS A Wt g A Ffue 2|

[1H¢ |
126 |

Downloaded from https:// www.studiestoday.com



Downloaded from https:// www.studiestoday.com

T
A
1
B 4/2 N5 .
D B C F
s ABC Wigst BC g1 &I @ femmsti & D 3R F /4%, FeEU
ampfa # fe@m @ won @ gluaa fifse
e firg ww e,

[4+[5=[1+180°
& I THI 6 STER
[4=11+[3 3 [5=]1+ 2
T W W
[4+[5=[1+[2+[14 3= L+ (1 +[2+[3) =[1 +180°
it BIS % IT=IEd B0 Bl ATHA  180° el B
ATE 6.3
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I 6.2
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JAFTE 6.3
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|C = 76°.

3. (i) 130° (ii)-56° i) 35° (iv) 52° (v) 40
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A : THIHOT 8y +9=3x-3+7=3x+4 YR & & Id & 8x — 3x
=479 HYAT 5x=-5 39 & 8 x =1 U T 2| BH 3Eh! T 36 &
T w2

8x+9 =8-1)+9=13M3x-1)+7

=31 +T7=32)+7=6+7=1

T AE Sx+9=3(x—1)+7% fTT x=— | T 8| 39 T~ 4 e gran

2 fp x=— 1 5HEE R
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2 3 7
TEO 14 2 T B Sx= ox+
A : TSN BH, B b AHLA W O K &l 3,8, 12 H AFLA 24 Bl

(B9 b i rfremon 3w fRam 27)

W TG (%x)24=(§x+%)24 3 W

T HE W 16x=9x + 143H AE Tx= 14 YA x = 2. G0 KU 31
x=2 a9 H g B

W h AH.3F T HI U § 0N P BT T A9 & AF fo1d1 37 T b
qUieh WU qord TRV ST 2| 38 TR 1 STHHT & g, B 81 374
IYERT 3 UfeE S I iR, QT g ST § IRede e B TEEe 2

15 : o feb 2)65-|-7_3x;-11:2x3-|-8_5

T : fafe el & ® W2, 3, 5 R
3ITRT AL 30 Bl [ THIH H1-30 F TUMRE W gH W rm 2

(2’?7}30—(3’5;”}30=(2x3+8jx30—(5x30)

WA HE W,
—6(2x + 7) — 15(3xF11) ="102x + 8) — 150
— 12x + 42 — 45x — 165 = 20x + 80 — 150
12x - 45x - 20x = -42 + 165 + 80 - 150
-53x =53.
Tgfd el I eIl i W FH UTd B
—S12x -/ 45x — 20x = —42 + 165 + 80 — 150 = — 53x = 53
3Td: x = —1 GHIS BT BA 2
38 3719 gHfeRtor 1 faenfud s St o Gehd @ Toh ST o gt SR et
uy gEH & A1 T
AU 16 : 8A HINT : (x + 47— (x — 5= 9
T : TES &9 § I8 gfientor 1 atg fewr @ & S T e W} wd
@it % 3TN TR i W, BH U Biar R

X+ 8 +16—x>+10x-25=9
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A B W T I Hid & : 18y — 9 = 9 T hid W 18x = I8

FA: x= 1. I§ GAUH HET A B 6 x = 1 wfiswr &1 &5 2|
Hifwrm
1. ax+b=0 &1 ¢ = 0 T¥Y & GHIHW BA KT AT 7 Hi@r g1 ARl
v==0 s B i i e st e 21 W oA i @ i B
FHHT ax + by +c=0 & a 2 0 AN b % 0 g [: Uh g FHw0r
2 W T hl TEAT 2 B T gH UET TR T hL Hebd 8 7 TH HHIOT
%]%Wﬁ%a(x,y)gﬁﬁé?qﬁ a,bﬁc%%,wm‘{'ﬁxﬁ'{
y T B Gohd & Sl THIHIUT T GHTIH L Fohd 8l
2. AT T (x + 12 = 22 + 2x ++1 & L Hehd Bl ?

FEmE 8.1

1. F=t =1 g fem -

() x+3=11 (i) y—9 =21 (iii)'10 = z + 3

i i+x—2 10x = 30 ) =4

(iv) TREAET (v) 10x = (vi) 7

3% 10 Lo X : _

(vii) 6 = (viii) 1.6 = 5 (ix) 8x — 8 =48

Y=L \\/_ o X
(x) 3 —15 (x1) 5 =12 (xii) 5 =15
X

(xiii) 3(x + 6)= 24 | (xiv) Z—8=1 x) 3x+2) -2(x-1)=7
2. Gt Rl g fRfvm -

() 5x=3x+ 24 (i) 8+ 5=2r-31 (i) 7x — 10 = 4x + 11
(iv).4z +3 =6+ 2z W2x-1=14-x W)obx+1=3x-1)+7
wo2X_3_x XT3 5 _2x
(vii) 5 o = > (viii) 5 5
(ix) 3(e+1)= 12+4(x-1)

(x) 2x — 5= 3(x — 5) (xi) 6(1 — 4x) + 7(2 + 5x) = 53
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(xii) 3(x + 6)+ 2(x + 3) = 64 (xiii) T+8:3_1

(xiv) %(x—l)zx—f’s

2.3.3. {aw wfieon w1 TIEAN :

BH, Th 9% oI Rgsh arfiento] & TEla $9 3¢ W feam &

ISIEOT 17 : Th GEA1 % HAET 6 11 § 9gH W 81 U i &1 98
AT T HIT)

T : 3 TW I TON QO T

TWOT 1 : T8 g9 <A HiEgad g § faed 21 am i a8
@ x 3| e, g0 TE Sd {6 9g w'm w21 ¥ ™ g s 3w
TqH x A Yo Ueh GHIHWO S0 2| 3T 39 G H1. 7 AT 8l 8 Tx 39 11
T §eH W U BIAT 8 7x + 1170 % FTER 7x + 11 = 81.
FT MY AH ¢d & b 8H.T0H x ¥ oA Teh geh THlehor ged &7

TROT 2 ;316 W Tx + 11 = 81 HHIHW! B AT 21 AT THIHT A HH
% foud W gl 11 1 g 9% W 9E e W gH I B 8

7x =81 — 11 = 70

7 ¥ YN e W, B9 9T HW & x = 10

TROT 3 : &6 T ST AT 10 AR TG o hUT T FHIUH HLAT 8
a1 |

IS & BT 7 x 10 = 70.

T 11 St § W L 8 81 S fob gmw ot wE B

FARE x'= 10 THIHWET &1 & 2|

3arEot 18 : it & wrar Y adae 3y Bl % adam 3y A fard 2l
5 a¥ o SR e 3T I AMHA 66 T4 8| ITeh! JAHH Y G HifC)

A : BH 3% U0 § 39 GHET i g L Gohd gl A9 o Bl T adum
I x 3| T IHh HIAT I AT 3x % ST 5 a9 & &1G GHI sl 3T SHAN:
x+5 3N 3x + 598 Bt B THET % AW T AR AT 66 H SR BT B
34 e T 2|
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x+5 +@Bx+5 =066

3§ x 1 Yo TAdT T YT L Tohd 8| THHWT HT WA € 4x + 10
= 66 ST &1 10 I Y&l & & Y gral B

4x = ~10 + 66 JAYST 4x = 56 JATM x = 14

oot 1ed ¥z T Bl & adum 3y 14 3R S war f Oy
14 x 3 =42 99 |

S 379 BH S hl foh I8 ST GHE T GHIEM Hidl 27/ 1 TEl|
5 a¥ a1 ol i 3 14 + 5 = 19 3Gk UIaT h I 42 + 5 = 47 a¥| F
ST T ANTHSA 19 + 47 = 66 I9 Sl & HF 1 THIYH HLdT 21 3d: Ig Fehs
freperar 8 fop folt 1 odum amg-14 a9 ] 3R 3meh! | A 31 42 99 F)

ISR 19 ¢ A AT T T@S T AHA-252 8 3% Fd hiu|

T : 9 UG g0 HEASh B IR oHad SN x gl a9 A HEd
x +2 3 x + 4 B 8| Fifh AT & TH TEAT 1 .37 2 BidT 8, o o
ERIEEI

X+ (x+2)+ x+t4 =25

3 TWE BH AT IR 3x + 6 = 252 BT | TLCATRUT ¥ 3x = 246 BA
HH W x = 82 BT &I

39 g 98 o9 ShATTA HH.EEE 82, 82 + 2, 82 + 4
JYT 82, 84, 86 BT 7 W 82 + 84 + 86 = 252
30 @ & $ YN BT 2l

EEW 20 :UH P w1 ufmm 14F ft @ 3R IERl e
Xx+4,3x+ 18N 4x+ 18 @ x Fa Hifg|

C

3x+1
4x+1

B
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T : g8 Ao 7 6 e &1 ufem, fye 6 @A aestt &1 ammea
2| s o WY feam B x+ 4, 3¢+ 1, 3 4x + 1, INATT T8 (x + 4) + Gx + 1)
+(4x+1)=8x+6 Bl THST % HYT TAHAR I 8x + 6 = 14 B T HH W
B AT B x = 13H A@ YIS b AU 1 + 4 = 5; 3x )+ 1=43W @4
x 1)+ 1=>581 g8 g e 6 geneti & wmw 5,4,5 9 @ 2

& 98 W w W wEd ® 6 U wwen i iy w9 e gien E@ve Jé
BTl A e g6 B 1 Se a0 e hEl & Eehl e x % .l
I x+ 38 W IRAT 10 3HE 81 AW fI@T x + (x + 1) 4. 3) =10
3N W A W W x =2 I BAL-2l 3W Fofg & Thd & f6 gemd 2,
241 =3,2+3 =75 % wqg Wby T8 g SEhrgem 2, 3,
5 31 Fbifes B 1 st B Be StEEHaT FETEE. S 8 2l
Frta, & yanstt &1 e, diad Y @ i gar @ 3a: gl ule g
U A H A8 adtoshal @ A1 el G gU gEe & A8 Heedqu | 2|
W | H1$ 3l 91a T 2| T U T @ $ e F S ER | Gt
Bl 99 d 39 TR Getd § 3 3ifaw uftomm uted v 81 = ufom,
TE 2 AT TG his MU TR o 7S HE G181 STl 38eh! wifdehdl
W fomR # wlEm w2 6k 9w wifde 9 9 @6 R

3G 21 : A TN AB B @1 W P s {05 8 A1k P AT A 3R
B o9 # fya 8, 3N AP=3PB 2| fear & 6 AB =10 @.1i. @ AP I @=Ts
EIGEEDIEN

A P B

BT 3P, ASIR B &g | fq 894 @
AB= AP + AB UTd 8| SH@E 10 = 3PB + PB = 4PB 8H PB % iU &

HHH RS B I B R S PB= =

5 15
A 1 AP=3PB =3 x =— e i

JET 89 PB=x 7 ool x § THHWUT S0 2| 89 Y PB I T ookl PB I
e I W 2
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w1 : ise w9 A A Pl AN B = # foqm 21 @
Gohdl 8, AB B W1 T PIE Ash i 31 311 B & cifgt 37 &l Hehal 21
gHl Tedt & Tgfad afietur SRt 38 B Shifoe| Ueh Hey T 3ATUeh! KU
T U Bl 31 I8 TR ¥9 § GV | HEifh @S RUNRd ST 2

IATEUT 22 : T 37oh! hl AT o 3kl T SIS 12 8 37l ol TIH Ui
HE T T A GET 54 ATUH 3| 39 A T F1 hig|

A A AT 3hTS TIM 37 x 8 3N @8 TN & 3% y &l 308
I8 GEAT 8 10y + x 8 S & T x + = 12 37l o I ocoM 00 I _HE&0

2 10x + y A YAMER

10x + y = 10y + x +.54

WA HH W 9 (x — y)= 54
JYA x - y=6

o AR, I8l g8 o St U g

Xty =123 x -y =637 Sied W AT I B (x + y) +
x—y»)=12+6~18

3 WG 20=18 YT x = 9
y=12 - x84 /T y=12-9=3
THH HIC[M BT & HehHE 39 2l
JTET 3HHT T hi|
3T &% WM [€ee W YT &1 93 Bt 81 Sfid & W 93 = 39 +54.
vl g 7 T 3 w2’ B IR @E F 92 | W aR T8
T St 810y +x 89 OHd B 6, x +y =12

3l H WM FGe W W G BT 10x + y. QR I ITIER
10x+y =10y + x + 54

WA HH W 9x—y) =54 JYA x—y = 6

T THIROT WA & H x +y =12 I x—y = 6 3 3= e
T HTh! T BT &, x +y + (x—y) = 12+6=18

T AE 2x=18 AU x =9,y =12-x BH F p=12-9=3
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30 "eM BT 8 T e @@ 39 ® )

30 A $HH W 3N HAHl & WE Fged W I T&I1 2 93 |

FEH T AU T Thd 8, 93 = 39 + 54.

ISEAT 23 ¢ T WA HT I 3 : 2 JUT SABT ANESA 75 B A
T3 ! AT I

g : OAT 3 : 2 A H TEaTell H@Al 3x 3R 2x B| fomn mm ® R
3x + 2x =75

THAE : Sx = 75.
x o T &1 & W, BH x = (5 ITd BT 8| SHAT GBI 8 : 3x = 45
3 2x = 30 T B W =35k 45 4 30 = 7.

30 2
nTE 8.2

1. Th G H1 4 g4 W 3 ITh HI 3 & o0 W | 30 Ied B 2l
39 GEAT I A il

2. ShUTTA </ Towy w@nst & 9. i e e 219 2

3. T H&IT B.¥ 30 T¢H W 3G T&I & o T § & 14 T & SO il
Bl 98 @& " it

4, Th T& & TR A 59T W 16 I BiaT 2| 98 HEAT W i

5. T eSSl I i fE U wea g ¥ 9 31 B 3R 3R e
81 2

6. i hl MY TfES hI 3 F 6 T SR B 15 99 e, Tohfd, Afeet
#1 Y H 3 T S T IThT 3 A IR

7/ 3TgHS o Ul il Y 37gHe i 3T & T & SR 2| 12 oY & g,
ITRI-3TTY 3 I T I H g b TS ERf| 3T IAUE I T
=i

8. T ht 31y 3Hh WS Ay A 3 & 6 I Irferes B) Ffe 376 Y H1 ATHA
28 ¥ R, STl GAHH I T B?

9. fosft i 3y, g HT 3G H G 21 AMG 36 3T T =R 11 T4 2| I
A Y TG I

[177 ]
1 172 ]

Downloaded from https:// www.studiestoday.com



Downloaded from https:// www.studiestoday.com

10. et % 61 3mg o G fag 1 ey @ 27 9¥ Ff 31 8 o
TTe ITH Y faeg h I A g F TSR & TR TR FAE I
LIS CRCIEI

11. 16 99 91g, <A1 394 Fam™ 1Y 6 T &1 SReft| 3t ada™ 31y A1eM
i

12. T 7A@ H TGS 39 GISE 6 g d 5 A HA 7| A9 S Gl
Y B T AR =eE w2 4. § sed W, I afEa 74 d.H gl
o A hl a8 3R SR Fq hif)

13. AEATHR T hI TS IHb dISs-hl G &l ATG T hl GRMH{T 288 Hiet
?; ©d % AW 14 i

14. gt it 3T 318 61 AW H-4 A1 o TR 2l Afe A1 firetent T
&R W 3,750 w8, IThl A et 3 i)

15. 3Thfd § AB T A @l 21 x 1 qed T |
D C

x + 40

x+ 20
A B

yegEelt
TS0l : Uh HUT S| Uk TR Ugd usih 0 % SUST R
T T g fed SW W, WU % T qew W hYd @ed gl R
g arfieor o Th T w1 G|
eI (Transposition)mam maﬁwmm%ﬁagiw T TJTHTAROT ST,
T L FHI U EHET U¢ % T8 seerd 2|
HAWOA : I & § GHIH 1 U Al & a1 T8 S .
Te, Maw
o Teh THIHT IEH U Tk % F© oAl b TOTT T BT B ; Teh T
3G Iuferd =ieh & avfi goui & fotu @ gian R
o T g T IH W, o <amr % HATAR Ariehter AT, THIERT B
1 AEUl =X 2|
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o T TG g1 AN ifqes ¥ W @ g1 JFavd & R| gH Wi i
& o0 Hifoes ded % fow @ @ = 7 S =nfEw)

RS

= 8.1

. @ x=8 (i) y = 30 (i) z =7 (iV)x=%
(V) x=3 (vi) s = 28 (vii) x = 20 (viii), x = 2.4
(ix) x =7 x) x = ?8 (xi) x = 60 (xii) x = 25
(xii) x = 2 (xiv) x =36 (xv) x = -1

2. (@) x=12 (i) £ = -6 (i) x = 7 (iV)z=%
V) x =1 (Vi) x =25 (viil) X'= ~13 (ix) x = -5
(x) x =10 (i) x = 3 (xil) x =8 (xii)) x = —54
(xiv) x =9

T 8.2

1. 6 2. 71, 73, 175

3. 25 B3R 15 . 4. 11

5. % 3,000 3R T _750 6. 60 3R 10

7. x =40 8. 7

9. 45 336 10. 96 Ht 3 48 =

11+ 37gAg =1 311 12 3 3ueh fuarsh & 3my 36 =

120703 & 3/ 11 3R &Y ot Y 17 a9

13,6 & Y 11 3R st hr g 22 ad

14. &g &1 M 19 3R #fmfd SE® H 3 46 a9

15. 8 @

7l
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( ADDITIONAL PROBLEMS]

Afaie 97
1. el & ©e
1. &l W w1 = Hifdw
(a) 456 1 A &Y 8
A. (4 x100) + (5 x10) + (6
B. (4 x 100) + (6 x 10) +/ (5
C. (5 x100) + (4 x10) + (6
D. (6 x 100) + (5% 10) + (4
(b) X # = womeht 3w i 8§
A. IR SUTTeA! B. fgum someft
C. TIHIER JoTTet D. NSCHH SUTTedt
(c) A Zho Uh A Jiehl H TEA B 1 98 HE&

1)
1)
1)
1)

X

X

X

X

A) 8 B) 7 C) 6 D) 5
) T Jpe TH 3,371 hI TEAT B

AR .. ¥ a2

A) 12 B) 15 C) 18 D) 21
(e). AT 1kx k1 = k2k ‘k’ 31&R N § 3% I gHad Hdl 2|

A) 1 B) 2 C) 3 D) 4

(f) 34511 I€ GEAT ... § WST ® |
A) 15 B) 12 C) 9 D) 3
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(g) 3AB4 9 I W& T 3l hl T&AT J&1 A,B I &I Had HW &, S
11 & 97 2|

A0 B) 4 C) 7 D) 9
2. 11 9 9TST T8 YA 5 3ehi hl @& HH H 7 L = g 3
Jufeya 87

3.2,3,4,5 6 0 11 ¥ 9T fohad 5 7RI Hl T T 87

4. g 49A 3R A49, F&l A> 0 H T AW PHETE 7, A ‘A WS Jod
Ta i)

5.3 3R 5l HH U HH Tsh 91 ST K 1 § 10 d6 TEIAT 1 ferfiam,
STEl Srgd 3 Te Al ufRT 3w id & | (3¢ 70=5 + 5 - 3)

6. Tft 2 3 A TEIS B T HIAC N 3GH SiHT F AT G 9T B

7. Ueh Edsh % Uil Shl GEHT Ufdd # fored W 216, 37l I T st R
q&deh o feraq o €7

. = T @ efaw

oo

3 U TS ed 81 9 d ufed H mex 1 we W 2e
9. wred Smeg wt ot Hifvw |

(Geal @ 3 x 3 g8 o1 H, g3 ANTHA WeA hi T
& dH T R)
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10. @t 3 IR % @I TR [TG DI S 3T e o G § 12 T 3

11. 34x5y % x 3R y 3% @ HIC qlH I8 36 A=A 2|

12. @ 319 1,2,3,4,5,6,7,8,9,10 &1 & &gl # fywifom o werd & aifep
T HUE % bl I EHRA GE UG % bl b MG d HE T
2 3 wThe oA 2l

13. 273A49B5 &fl 8 7Rl I & @ HIT I 11 & 3R 25 & 9T Bl

14. 91 9T ab qoriss B a1 2 +a 3 35-b 11 & wr=a 7| fog v

a+b, 11 ¥ 9T R
15. %A A8 x 3B = 2730, A 3B fifesa i # gfua & @ 1 0 W
i 81 A+ B ¥ Hifwg|
17. 98 Tgau T&AT Fd hITT TG 6 3T 8 & W ¢4 T A 7 3R 9 3N
Tl 2l
18. firg ifSu <fi= seamTa nwifess Tl 6. T T ANES BHIT 3 ¥ WS Bl
19. 100000 <hI-hH-H TEdH TEIT gt W 98 1234 I U Ied BT 3|

L. (a) A; (b) B; (¢)C; (d) C; (e) A; () D; (g) D; 2. 24365.

3. 12 4.2,5,1,8 501=3+3-5,2=5-3,3=5
+5+5-3-3-3-3-3+3,4=3+3+3-5,
5=5+5+5485§-3-3-3-3-3,6=5+5+5+3+3-3-3-
3-3-3,7=5+5-3,8=5+3,9=5+5+5+3+3+3-3-
3-3-3-3/10=5+5+5+5+5-3-3-3-3-3

6. 12,18, 21, 24, 27, 36, 42, 45, 54, 63, 72, 81, 84, 10, 20, 30, 40, 50, 60,

70, 80, 90.
4
7. 108 9= 8. 70 9. R
10[5]6

H

Downloaded from https:// www.studiestoday.com



Downloaded from https:// www.studiestoday.com

10. UH H& %hael 108 2
. x=4,y=2Aqx=0,y=6ATx=9,y=06
12. (123,587 % &g <vg IR gEUT (4, 6, 10) @ | dr

Ix2x3x5%x8x%x7
=7 3R I8 HIE 99 B |
4x6x%x10

13. 27314925 31 27364975 15. 8066
16. 12 17. 62

2. WS =eTh
1. T8 W 1 =39 HifvE :
(a) THF A o Th & T UQ

A. 9T B EI Ug
C. TUHAEYS D, fo=rfa ug
(b) 2ab H ab P HEH B
A. ab B. 2 C. 2a D. 2b

(c) a x a x a 1 TS €4

A. 3a B. 3+a C. ada° D. 3-a
(d) € RUICHS YUTish T ANT
A. ZRUTcHh B. YdlcHsh C. [ D.~ﬁqa
(¢) @ +/2ab HI"HT Se4 ¥ 98 FWUl a1 &1 &7
A b2 B. 2ab C. ab D. 2a
(f) (x.+2) (x — 3) B TUHGSA FT 27
A 2x -6 B. 3x -2 C.x*-x-6 D. x> — 6x
(¢) (7.2 IoI B (TEafHH & 3T ¥ foer $ifsw)
A. 494 B. 144 C. 51.84 D. 49.04
(h) (2x — 3y) 1 TR 2
A. 2xF + 3y + 6xy B. 4x*+ 9y? — 12xy
C. 2x* + 3)* — bxy D. 4x* + 992 + 12xy
I178I
|
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(i) 58 x 62 T TPFGA (TSART HI ST H) &

A. 4596 B. 2596 C. 3596 D. 659
2. 8x+7y—8p +10g I 10x + 10y — 7p + 9¢ H ¥ =TT
3. faem =ifS |
2 2

(i)(4x + 3) G 20 G [+ V) @ (x=Y)
4. Torear R |

(i) 2+ 5) Q2 - 5) (i) (v + 8) (v — 8)

(i) (2x + 3y) (2x — 3y)
5. faem =ifS |

() (1 1) (0 + 1) (2 +4) i) o A me By L)

(i) — 1)+ 1)@+ @ FD (v) Qe p) Qx +3) (@2 +12)
6. TE TT % ITAR ¥ YeI G Hifu|
(i) (103)? (ii) (96)? (i) 107 x 93 (iv) 1008 x 992
(v) 1852 ~ 1152
7.9 x+y=7 IM xp=12 A £+ T T |
8.Elﬁx+y=123ﬂ1 xy.= 32 g o X2+ Fd I |
9. Ife 42 +1P =40 A xp=6 B @ 2x+y Fd HIC |
10. afe x—y=3 /MM xpy=10 B A +)?> T HIWC |
11. 7 (x+3 =3s%zﬁx2+(%z) 3R x3+(%3) 1 HIAT |
12. 7 x+(V)=6 @@ x2+(%2) 3R x4+(%4)amsﬁm|
13. W& BT (i) (x + ) + (¢ — p) (ii) (c + p) x (x — p)?
14, =it 1 &1 ol & A % &9 U > HiT |
i) (x+22) Qx + 2); (i) 4(x + 2y) 2x + y)
(i) (x + 98) (x + 102)
(iv) 505 x 495 (Yo (4a) = (a + b)Y — (a — b))
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15. af € a=3x -5y, b=6x+3y 3 C=2y—4x &
()a+b—c (i) 2a—3b+4c T BT

16. W I TRt 1522 — 23x +9 B 3 ITh @ YU 52 + 8x— 1 3R
6 — 9x + 4 B A& WS T [ iR

17. U 1A Q TelTH Yo 242 — 5xp + 322 AN 4y — x> — 22 & < 379 foh
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